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Kanta Bansal 
UNIT 1

(4 Marks)

Introduction to Economics

What is an Economy?

It is an organization that provides livelihood to the people of the nation.

The problem of choice arises because of scarcity.  And this is the main focal point of study in economics.

Economic Problem refers to the problem of choice arising from the use of limited means to the satisfaction of various ends.

Why does an economic problem arise?

An economic problem arises primarily due to scarcity of resources.
The main causes of economic problems are as follows :-

1. 
Human wants are unlimited.
2. 
Limited means.

3.
Alternative uses
Whereas means are limited they have alternative uses as well

Central or Basic Problems of An Economy Which Arise Due to Scarcity

1.
What to produce

If refers to which goods and services will be produced and in what quantities with the limited resources i.e. consumption goods or capital goods.

2. 
How to produce

It refers to the choice of methods of production of goods & services i.e. whether labour intensive or capital intensive technique is to be adopted taking into consideration the proportion of capital and labour in an economy.

3.
For whom to produce.

It concerns with the distribution of income & wealth which refers to who earns how much or who has more assets than others.

Production Possibility Curve And Opportunity Cost

It refers to a curve which shows the various production possibilities that can be produced with given resources and technology.

Production Possibilities
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                                                        Commodity A
If the economy devotes all its resources to the production of commodity B, it can produce 15 units but then the production of commodity A will be zero. There can be a number of production possibilities of commodity A & B

If we want to produce more commodity B, we have to reduce the output of commodity A & vise versa.

Shape of PP curve and marginal opportunity cost.

1) 
A PP curve is a downward sloping curve.

In a full employment economy, more of one goods can be obtained only by giving up the production of another goods. It is not possible to increase the production of both of them with the given resources.

2) 
The shape of the production possibility curve is concave to the origin.

The opportunity cost for a commodity is the amount of other commodity that has been forgone in order to produce the first.

The marginal opportunity cost of a particular good along the PPC is defined as the amount sacrificed of the other good per unit increase in the production of the good in question.

Example:  Suppose a doctor having a private clinical in Delhi is earning Rs. 5lakhs annually. There are two other alternatives for him. 

1) Joining a Govt. hospital in Banglore earning Rs. 4 lakhs annually.

2) Opening a clinic in his home town in Mysore and earning 3 lakhs annually.

The opportunity cost will be joining Govt. hospital in Banglore.

Increasing marginal opportunity cost implies that PPC is concave.
Shift in PP curve

 (1) Upward shift


(a) When  there is improvement in technology.


(b) Increase in resources.
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Planned Economy: 

A Planned economy is an economy in which the central problems of What, how and for whom to produce are solved by government through planning. Economic planning replaces price mechanism. It is regulated or controlled market.
Need for a planned economy:
1. The projects in which private sector do not show interest e.g. water supply, education, health, etc. the production of these services requires huge investment and may earn less profit. 

2. The projects involving long gestation period e.g. electric Hydel  projects. 

Market Economy:

A market Economy is an economy in which the central problems of What, how and for whom to produce are solved by the freely operating market forces of demand and supply.

Distinction between Planned Economy and Market Economy:

	Planned Economy
	Market Economy

	1. All the economic decisions are taken by the state.

2. The decisions what will be produced are taken by the government

3. Social welfare is the main motive behind all economic decisions.

4. Prices are fixed by the government.
	1. All the economic decisions are taken by the market mechanism with the help of the forces of demand and supply.

2. Consumer is sovereign.

3. Profit motive is the main force behind all economic decisions.

4. Prices are fixed in the market by price mechanism.


Mixed Economy

Today most societies are mixed economies. Most decisions are taken in the market but government plays an important role in overseeing the functioning, passes laws, that regulates the economies life, produce educational and police services and control pollution, etc. so most societies today operate as mixed economy.

How are fundamental problems solved in the capitalistic economy.

In a market-oriented or capitalist economy, these fundamental problems are solved by the market. There is a price, which is influenced by the market forces of demand and supply. These forces guide which goods and how much is to be produced and consumed.

How are fundamental problems solved in the planned economy.

In a planned economy all the economic decisions regarding what, how and for whom to produce are solved by the state through planning. Economic planning replaces the price mechanism. The market is regulated and regulated by the state. The prices of the various products are fixed by the state called administered prices.

Positive Economics:

Analysing economic behavior without making any value judgement whether the outcome is good or bad is positive economics. It concerns ‘what is’ or ‘what will be’. Eg. People normally, do buy less when price rises.

Positive economics analyses ‘what is’ without any value judgement.

Normative Economics:

Normative Economics deals with ‘what ought to be’ and based on value judgement. Eg. Senior citizens should be given free medical facilities.

	Positive Economics
	Normative Economics

	1. Deals with ‘what is’

2. No value judgement made on the outcome.

3. Verifiable from the facts.

4. E.g. demand falls when price rises,  Prices of food grains are rising in India, etc.
	1. Deals with ‘what ought to be’

2. Value judgement made on the outcome.

3. Not verifiable from the facts.

4. E.g. Govt should generate more and more employment opportunities, etc.


Micro Economics and Macro Economics:

Micro Economics is the branch of economics that studies the behavior of the individual units e.g. behavior of an individual consumer, behavior of an individual firm, etc.
Macro Economics is the branch of economics that studies the economy as a whole e.g. the level of output, income, employment, general price level, etc.
QUESTIONS FOR DISCUSSION 

1. What is economic problem? Explain why does it arise ?

2. Identify which of the following are the subject matter of microeconomic, or of  macro economics. Give reasons.

(i) National income.

(ii) Supply by an industry.

(iii) Govt. budget.

(iv) Market wage rate determination.

(v) Growth and Development.

3. Explain the problem of ‘What to produce’ with the help of an example.

4. Draw a PPC and show the following on this curve. Give reasons of this shift.

(i) Growth of Resource.

(ii) Underutilization of resource.

(iii)  Fuller utilization of resource.


5. Explain the problem of opportunity cost with an example.
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6. Calculate marginal opportunity cost of good X.
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*7. Assume that scientific inventions have doubled the productivity of society’s resources in butter and guns production. Redraw society’s production possibility’s curve. (Production Frontier)


*8. Many societies are rapidly depleting in natural resoures. Assume that there are only two resources (Labour and natural resources) producing two goods, X and Y. With no improvement in technology:-

(a) Show what would happen to PPF overtime if natural resources are depleted. 

(b) How would invention and technological improvement modify your answer.

(c) Explain why it is said that economic growth is a race between depletion and invention. 

Hint: 

(a) PPF shifts downward.

(b) With inventions and technological improvement economy will grow and PPF shifts upward. If upward movement is greater than downward; then more of both the goods, X and Y will be produced.

(c) Depletion pulls the PPF downward and new invention pushes upward. So we can say both is a race, one slowers the growth and other fastens the growth.

9) Distinguish between: (i) Positive and Normative Economics.





(ii) Micro and Macro Economics.

10) How the basic economic problems are solved in the:


(i) Market economy


(ii) Planned economy

C.B.S.E. QUESTIONS (2004 onwards)

1. Why does the problem of choice arise?



 
  
 (1)

2. State any two causes of an economic problem.


  
  
 (1)

3. Give meaning of opportunity cost.





   
(1)

4. What does a production possibility curve show? When will it shift to the right?








  

 


 (3)

5. Draw and define production possibility curve. Why is it downward sloping from left to right?






   




(3)

6. What are the three central problems of an economy? Why do they arise? 4

7. Explain the problem of ‘what to produce’ with the help of production possibility curve. 








  


(4)

8. Why does an economic problem arise? Explain the problem of ‘how to produce’. 









     


(4)

9. Explain the problem of ‘how to produce’ with the help of an example.  

(4)

10. Draw a production possibility curve. What does a point below this curve indicate? Explain. 







    



(4)

11. Explain the problem of ‘how to produce with the help of an example. 

(4)

Unit – 2

Consumer’s Behaviour and Demand

Consumer Behavior 

Basic concepts: -

1. Utility: The want satisfy quality of a commodity is called utility.

2. Total Utility: -It signifies the total satisfaction which a consumer gets by consuming all the units of a commodity.

3. Marginal Utility: - It is the addition in the total utility by consuming an additional unit of commodity.  

MUx = Tux – Tux-I
Relation between total Utility and Margin Utility Table-1:

	Consumption 
(in Units)
	Total Utility
(Utils)
	Marginal Utilities
(Utils)
	Marginal Utility 
 (1Util=1Rupee)

	0

1

2

3

4

5

6
	0

4

7

9

10

10

8
	-

4

3

2

1

0

-2
	-

4

3

2

1

0

-2


Graphic presentation: 
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Graph -1:
The relationship between total utility and marginal utility is summed up as:

1. Initially total utility increases and reaches to point M at its maximum, marginal utility diminishes and reaches to 0

2. After point M, total utility diminishes and marginal utility becomes negative.

3. At point M, TU is maximum and MU is 0.

4. Law of Diminishing marginal utility: As a consumer goes on consuming more and more units of a commodity the additional benefit that he derives from the additional unit of commodity goes on falling.

Assumptions of the Law:
1. 
Consumer is Rational

2.
Utility can be measured in Cardinal numbers

3.
Marginal Utility of money remains constant

4. 
No change in Income, price and prices of related goods

5. 
Continuous consumption of commodity in appropriate units.

Explanation of the Law with the help of Table and Graph

Table-2:

	No. of Ice Cream Cups
	Marginal Utility

	First

Second

Third

Fourth

Fifth

Sixth
	4

3

2

1

0

-1


Graph-2:

                     




Consumer’s Equilibrium:

Meaning: A consumer is in equilibrium when the difference between total utility in terms of money and the total expenditure on it is maximum.

Condition of consumer’s Equilibrium.
       =  MU of Product   = Price
            MU of Rupee 

Table-3:

	Consumption

(Units)
	MU
	MU sacrificed in terms of prices
	Utilities derived – Utilities sacrificed

	1

2

3

4

5
	50

40

30

20

10
	20

20

20

20

20
	30

20

10

0

-10


Graph-3:






Two Commodity Case

        = MU of Product X= MU of Product Y = MU of Money 




Price of X

  Price of Y

Table-4:

	Rupees Spent
	MUx
	MUy

	1

2

3

4

5
	12

10

8

6

4
	10

8

6

4

2


Suppose a consumer is to spend Rs. 5/- price of each is Rs. 1/-. He will spend Rs. 3 on x and 2 on y. In this commodity he gets maximum satisfaction.
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Indifference Curve Analysis:

Meaning: An indifference curve is a locus of all such points which shows different combinations of two commodities which yield equal satisfaction to the consumer. In other words, consumer gives equal importance to all the combinations on a given indifference curve.
Indifference Curve Schedule:

An IC schedule refers a schedule that indicates different combinations of two commodities which yield equal satisfaction.

Indifference Schedule:

	Combination of apples and oranges.
	Apples
	Oranges

	A

B

C

D
	1 +
2 +

3 +

4 +
	10
7

5

4


Indifference Curve: It is a diagrammatic representation f indifference schedule.
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Indifference Map: When different ICs are shown in a diagram that is called Indifference Map. Each IC represents different level of satisfaction. As an IC shifts to the right, the level of satisfaction goes on increasing.
Diagrammatic presentation:
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Law of diminishing marginal rate of substitution:
The concept of IC analysis is based on the law of diminishing marginal rate of substitution. To understand the law we must know the marginal rate of substitution.
Marginal rate of substitution: The marginal rate of substitute of X for Y (MRSxy) is defined s the amount of Y, the consumer is willing to give up to get one more unit of X and maintain the same level of satisfaction.
MRSxy = ∆Y / ∆X
Explanation of the Law of diminishing marginal rate of substitution:

 According to this Law, as a consumer gets more and more units of X, he will be willing to give up less and less units of Y. In other words, the MRSxy will go on diminishing while the level of satisfaction of the consumer remain the same.
Table: Marginal rate of substitution
	Combination of apples and oranges.
	Apples
	Oranges
	MRS

	A

B

C

D
	1 +

2 +

3 +

4 +
	10

7

5

4
	3:1

2:1

1:1
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As a matter of fact, Law of diminishing marginal rate of substitution is an extensive form of Law of diminishing marginal utility. According to this law, as a consumer increases the consumption of a good, his marginal utility goes on diminishing.
Properties of ICs:
1) An indifference Curve has a negative slope: This property is based on the assumption that if a consumer uses more quantity of one good he will use less quantity of the other.

2) Convex to the origin: An IC will ordinarily be convex to the point of origin. This property of IC is based on the Law of diminishing marginal rate of substitution.
[image: image4.png]Oranges.

Apples




3) Two ICs never cut each other:  Each IC represents different level of satisfaction, so there intersection is ruled out.
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4) Higher ICs represent more satisfaction: In IC map, higher IC represents those combinations which yield more satisfaction than the combination on the lower IC.
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5) IC need not be parallel to each other.
Price Line or Budget Line: The price Line shows the combination of good that can be purchased if the entire money is spent.
Explanation:  Suppose a consumer has an income of Rs.4 to be spent on apples and oranges is Rs 0.50 and that of apple is Rs 1.00. with the given income and prices the different combinations that a consumer can get are shown below:
Alternative combination possibilities:

	Income

(Rs.) 
	Apples

(Re. 1.00)
	Orange 

(Rs. 0.50)

	Four

Four

Four

Four

Four
	0
1

2

3

4
	8
6

4

2

0
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Slope of Price Line = Px / Py
Consumer Equilibrium (IC Analysis) : Consumer Equilibrium refers to a situation in which a consumer with given income and given prices purchases such a combination of goods and services  which gives his maximum satisfaction and he is not willing to make any change in it.
Conditions of Consumer Equilibrium : The main conditions of Consumer’s Equilibrium are:

1) Price Line should be tangent to the IC i.e., MRSxy=Px / Py
2) IC should be convex to the point of origin.
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When the consumer is in equilibrium his highest attainable IC is tangent to the Budget Line. At equilibrium point D, slope of IC and Price Line coincide.

Slope IC = Slope of Price Line 

Or MRSxy=Px / Py

Questions for Discussion

Consumer’s Behavior and concept of utility:

1. Explain the behaviour of TU and MU curves with the help of suitable diagram.

2. Define Utility? Describe the law of Diminishing Marginal Utility.

3. How does a consumer reach equilibrium position when he is buying only one commodity? Explain with the help of marginal utility schedule and curve.

4. * Why is it wrong to say, “Utility is maximized when the marginal utilities of two goods are exactly equal”?  Correct the statement and explain.
Hint: 

A consumer attains maximum utility “when the marginal utility of the last rupee spent on two goods is exactly the same not the marginal utility of two goods is exactly the same”. There may be the difference in the prices of the two goods. It implies that the ratio of MU to price in each case (good) is same and equal to the MU derived by the last rupee spent on both the good. 

5. What is IC? Explain the various properties of IC.

6. Discuss the equilibrium of a consumer with the help of IC analysis. What is Consumer Equilibrium?
7. Explain the concept of budget line.
8. Define Consumer Equilibrium. Discuss its conditions.

9. Explain the Law of diminishing marginal rate of substitution (MRS).
CBSE Examination Questions (2004 onwards)

Q1. Define Consumer’s equilibrium.

Q2. What is mean by consumer’s equilibrium? State its condition in case of a single commodity.

Q3. Define marginal utility. State the law of diminishing marginal utility.

Q4. Define the utility. Describe the law of diminishing marginal utility.

Q5. How does a consumer reach equilibrium position when he is buying only one commodity? Explain with the help of marginal utility schedule.   

Theory of demand

Basic concepts: -

1. Demand:- It is defined as the quantity of a good a person is willing to buy at a given price and at a given point of time

2. Law of demand:- Other things remains constant, demand of a quantity falls with rise in price, and vice versa.

3. Normal goods :- Normal goods are those goods which are positively related with the change in income. It  means their demand increases with increase in income.

4. Inferior goods :- Are those goods which  are negatively related with change in income i.e. their demand falls with rise in income and vice versa. 

5. Substitute goods :- Substitute goods are those goods which are substituted for  each other ex. Tea and coffee.

6. Complementary goods :- Are those goods which are used together eg. Car & petrol.

7. Demand function :- It explains relationship between demand of a commodity and its determinants.

Dx = f(Px,Pa,Pb ………….Pn,income, taste, fashion etc.)

8. Demand Schedule :- It is a tabular presentation which shows the different quantities of a commodity bought at various price levels.

9. Changes in quality demanded:- It is a movement along the same demand curve.

10. Change in demand:- It shows the shift of the demand curve.

11. Elasticity of demand :- It is the responsiveness of quantity  demanded of a good to the change in its price.

12. Increase in demand :- The demand increases due to the change in other factors like increases in the income of the consumer. In this case the demand curve shifts  to the right.

13.  Decrease in demand :-At same price-less is  demanded. In this case the demand curve shifts to the right. 

Demand -It refers to the quantity of a commodity that consumers wish to purchase in the market in a given period of time and at a given price. 

Law of Demand -It states that other things remaining the same, the demand for a commodity increases with fall in its price and decreases with a rise in its price. It shows inverse relationship between price of a commodity and its demand.

Demand Schedule and Demand Curve

The law of demand in tabular form showing different quantities of good that a consumer is prepared to buy at different level of price is called Demand Schedule.

	Price per Unit (in Rs)
	Quantity demanded (Units)

	1

2

3

4
	4

3

2

1


Demand Curve is the geometrical representation of the demand schedule showing the relationship between price of the commodity and its demand.

If we go on consuming more and more of a good, the additional benefit goes on falling. Therefore, a consumer buys more of a good at lower price. 


    Y



D

      Price






          D


     O

      Q.D.                       X



Demand Function:

Dx = f(Px, Pa,……….Pn,Y,T,F, etc)

Determinants of Demand:
1) Px – As the Price of the commodity increases its demand falls and vice-versa.

2) Prices of related goods – Related goods are of two types:

a. Complementary Goods : If the price of complimentary good increases the demand for the commodity(x) falls and vice versa.

b. Substitute Goods:If the price of substitute good increases the demand for the commodity(x) increases and v/s.

3) Income of the consumer - Income of the consumer has direct relationship with the demand for the good. If the income of the consumer increases the demand for NORMAL good increases and v/s. In the case of INFERIOR good the demand of inferior good falls if the income of the consumer increases and v/s.

4) Tastes – If the consumer develops favorable taste for the good its demand increases.

5) Fashion – It the commodity comes in fashion its demand increases.

Market Demand: Market demand is the horizontal submission of the demand of all the consumers in the market at a given price and at a given point of time.

Market Demand Schedule:
	Price per Unit (in Rs)
	Quantity demanded for A (Units)
	Quantity demanded for B (Units)
	Market Demand (Units)

	1

2

3

4
	4

3

2

1
	6

5

4

3
	10

8

6

4


Market Demand Curve:[image: image9.png]v v
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The determinants of Market Demand are:

i) Price of commodity

ii) Prices of related goods

iii) 
Distribution of Income.

iv) 
Tastes 

v) 
Number of consumers who buy the product.

Why is the demand Curve Downward Sloping ?
(i) 
Law of diminishing marginal utility:  If we go on consuming more and more units of a good , the additional benefit that a person derives from the  additional benefits that the additional unit goes on falling. Therefore the consumer buys more of a good at lower price.  

ii) 
Income effect :- If the price of the product falls the real income of the consumer increases, so consumer will buy more.

iii)
Substitution effect : If the price of the product falls it becomes cheaper in comparison to its substitutes so the consumer will buy more.

iv) Uses of commodity : If a commodity has diverse uses, with the fall in the price of product consumer will buy more.
Changes in Quantity Demand V/S Change in Demand

	Change in Quantity Demanded 

	         Change in Demand

	i) Other things being equal if the quantity demanded increases with the fall in the price of a product and decrease with the rise in the price of commodity, it is known as movement along a demand curve or change in quantity demanded.
	i) If more or less quantity of  commodity is demanded at the same

price due to charge in factors other than the price of the commodity is called shift in the demand curve. Or change in demand. 

	ii) The movement is either upward or

downward along the same demand curve.

	ii) There is either rightward shift or 

leftward shift of the demand curve itself.

	iii) Downward movement along the demand curve is called extension  in demand. 
	iii) Rightward shift indicates increase in demand and leftward shift shows 

the decrease in demand 



Price Elasticity of Demand

Price elasticity of Demand = % change in quantity demand

                                              % change in own price

Price elasticity of demand is a measure of the degree of responsiveness of the demand for a commodity to a change in its price.

Ed =  
(q   x  P


(P
q

Importance of Elasticity of Demand

1)  To a producer: -Every producer, especially a monopolist has to decide its output and price at which he has to sell his output.  If demand for his product is elastic, he will keep the price low to earn maximum profit.

2) To a finance minister -Before charging taxes, finance minister takes into consideration, elasticity of those commodities, which are to be taxed. He often charges high taxes on those commodities which have inelastic demand.

3) 
Useful in factor pricing -The factor having inelastic demand can obtain a higher price than those with elastic demand.

4) 
Useful in international trade -If a country knows that the commodity produced in a country has inelastic demand in international market, then high prices can be charged for exporting goods.
Factors Affecting Elasticity of Demand

1) 
Availability of substitute goods -Demand of a commodity will be highly elastic if it has many substitutes.

2) 
Nature of commodity -Demand of necessary and essential goods are always inelastic because consumers are restricted to buy those goods.

3) 
Different uses of the commodity: If the commodity has different uses, its demand will be elastic.

4) 
Taste & preferences -If the consumer is bound to use particular brand of a commodity then its demand will be inelastic because consumer will buy that particular commodity only  even at higher price.

5) 
Level of Income -If consumer belongs to richer section then his demand will not be affected by change in price, hence demand will be inelastic.

Methods of Measuring Elasticity of Demand

1)   Percentage Method -

      Ed 
=        %change in QD
          % change in price

      Ed =  
(q   x    P


           (P
  q

2)  Total Outlay Method (Expenditure Method)

If with the fall in price, total outlay increases elasticity of demand is greater than one, if total outlay remain constant, elasticity is equal to one and if the total outlay decreases elasticity is less than one.  

	Price of commodity (Rs.)
	Quantity (Kilo)
	Total Expenditure (Rs.)
	Effect on Total Expenditure
	Elasticity of Demand

	2
4
	4
2
	8
8
	Total Expenditure remains the same
	Unity 
Elastic

	2
4
	4
1
	8
4
	Total Expenditure falls with increase in Price & v/s
	Greater than 
Unity

	2
4
	3
2
	6
8
	Total Expenditure increases with fall in Price & v/s
	Less than 
Unity


3) Geometrical Method – In this method the elasticity of demand is measured on the point of a Demand Curve.

Ed =  
Lower part of DD curve
                 
upper part of DO curve                       


M
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QUESTIONS   FOR DISCUSSION (Demand &Elasticity of Demand)

1. Which pairs of the following goods would you classify as complementary, substitute or independent goods, beef, source, cigarettes, gum, pork, radio, television, air travel, bus travel, taxis, tea, Pepsi, coca cola.

2. Explain the effects of increase in income of the buyers of the good x on the demand for x. Use diagram showing demand for good x on the x-axis and its price on the y axis.

3. A consumer consumes goods x. Explain the effects of fall in prices of related goods on the demand for x. use diagram showing demand for good x on the x-axis and its price on the y-axis.

4. State three causes each for a forward shift and a left ward shift of demand curve.

5. Why does the demand curve slop downwards? Explain.

     *6. As you add together the identical demand curves of more and more people, the market demand curve becomes flatten and flatten  on the same scale. Does this fact indicate that the elasticity of demand is becoming larger and larger?  Explain your answer carefully.

Hint: 

Elasticity of demand is responsiveness of change in demand due to change in the price of the product. But in this question the demand increases due to the change in the number of consumer’s in the market not due to change in the price of the commodity. So it does not provide any answer for the change in the elasticity of demand.  
5. Table – 1:

Commodity




Price elasticity

Tomatoes





4.6

Green Peas





2.8

Furniture





1.0

For each of these commodities, calculate the impact of a doubling of price on quantity demanded.
6. Table – 2:

Commodity




Income elasticity

Automobiles




2.46

Owner-occupied housing


1.49

Furniture




1.44

Clothing




1.02

Butter





1.5

Oil





.75

Calculate the impact of quantity demanded of a 50% increase in the income of the consumer.

Hint:


For luxury goods like automobiles owner occupied house, furniture (luxury goods) income elasticity is higher; their demand grows rapidly relative to income. Negative income elasticity is  found in the case of ‘inferior goods ’. Demand for many staple goods like clothing, demand grows proportionately with income.     




Calculate % increase in Quantity Demand (Q.D) of these goods with 50% increase in income by using formula:

Ed = 
% change in Q.D

% change in income
*9. Explain why is of the following statements false:

(i) Protecting American textile manufacturer from Chinese clothing imports with lowering cloth price in USA.

(ii) Rapid increase in pvt. tuition fee will lower the demand for college.

*10.  For each pair of commodities state which you think is more price elastic

            and give your reasons:

(i) Perfume and salt.

(ii) Penicillin and ice-cream.

(iii) Automobiles and automobile tires.

CBSE Examination Questions (2004 onwards)

1) Define the market demand.

2) Why a good is called an inferior good?

3) When a good is called a normal good?

4) Explain the meaning of normal goods and inferior goods.

5)  Distinguish between ‘Change in demand’ and ‘Change in quantity demanded’ of a commodity.

6) Define market demand. State the law of demand and the assumption behind it.

7)  State three causes of shift of demand curve.

8) Explain with the help of diagrams the effect of following changes on demand of a  commodity:

a) A fall in the price of substitute good.

b) A fall in the income of its buyer.

9) Explain with the help of diagrams the effect of following changes on demand of a  commodity:

a) A fall in the price of complementary good.

b) A rise in the income of its buyer.

10) Explain with the help of diagrams the effect of the following changes on the demand of a commodity:

a) An unfavourable change in tastes of buyers of the commodity.

b) A fall in the income of its buyer, if the commodity is inferior. 

11)  Explain with the help of diagrams the effect of the following changes on the demand of a commodity:

a) A fall in the price of the commodity.

b) A favourable change in the taste of the buyer.

12)  State three causes each for a rightward shift and a leftward shift of  a demand curve.

13)  Define market demand. State the factors that effect it.

14)  Explain the law of demand and the reasons behind it.

15)  Explain the effect of increase in income of the buyers of the good  ‘X’ on the demand  for X. Use diagram showing for good X on the  X-axis and its price on the Y-axis.

16)  A consumer consumes good X . Explain the effect of fall in the prices of related goods on the demand for X.  Use diagram showing demand showing demand for good X on the X-axis and its price on the Y-axis.

      17)  What is meant by price elasticity of demand?

      18) Explain the expenditure method of measuring price elasticity of demand of a commodity. When is the demand said to be inelastic?

      19) Mention any three factors that affect the price elasticity of demand of   a commodity.

     20)  Give meaning of perfectly elastic demand and perfectly inelastic demand of a commodity. 

21) Price elasticity of demand of a good is (-)2 . 40 unit of this good are bought at a price of Rs 10 per unit. How many units will be bought at a price of Rs 11 per unit? Calculate. 

Unit III

Producer Behaviour and Supply

Production Function
The transformation of inputs into output is called production function. In economic theory we are commonly interested in two types of production functions.

First: when the quantities of some inputs are kept constant and quantity of one input is varied. This kind of production function is called law of variable proportions or return to a factor.

Secondly: We study input-output relation by varying all inputs in the same proportion. This forms the subject matter of the law of returns to scale.

(Not in Syllabus) 
Total, Average and Marginal physical Products.
Regarding physical production of factors there are three concepts:

Total Physical Products (TPP):-TPP of a factor is the amount of total output produced by a given amount of variable factor, keeping the quantity of other factors such as capital, land etc fixed.

Marginal physical product (MPP):- MPP of a variable factor is the addition to the total production by the employment of an extra unit of a factor.

MPL =   Δ Q X ΔL

Or

MPL  = TP n –TP n-1

Average Physical Product (AP):- 
AP of a variable factor is the total product divided by the amount of labour employed with a given quantity of capital ( faxed factor )

APL =  Q L

Law of variable proportion (Returns to an input)
It refers to the input-output relation when the output is increased by varying the quantity of one input, keeping the quantity of other factors constant. The proportion between the factors is altered. Therefore, this law is known as law of variable proportion.

This law has been stated by the economists in the following manner

Prof K.E.Boulding is of the view:- 

“that if we increase the quantity of any one input which is combined with a fixed quantity of other inputs, the MPP of the variable input must eventually decline.”

Assumption of the law: The law of variable proportion holds good under the following conditions:

1. First, the state of technology is assumed to be given and unchanged.

2. Second, there must be some inputs whose quantity is kept constant.

3. Third, the law is based upon the possibility of varying the proportions in which the various factors can be combined.
Three phases of the law of variable proportions.
The behaviour of output can be divided into three phases as explained ……. 
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Phase 1: Phase of increasing returns: Phase one ends where the AP reaches its highest point. Thus during stage 1, whereas MP curve rises in a part and then falls and the AP curve reaches its highest.
Phase 1 is known as the state of increasing returns because AP of the variable factor increases throughout during this stage.
Phase 2 : Phase of diminishing returns:
In Phase 2, the total product continues to increase at a diminishing rate until it reaches to its maximum point H where the second stage ends. At the end of the second stage, that is, at point M marginal product of variable factor is zero. This phase is known as the stage of diminishing returns as both the average and marginal products of the variable factor continuously fall during this stage

Phase 3 : Phase of negative returns :
In this stage TP declines and therefore the TP curve steps downward. As a result, MP is negative and MP curve goes beyond the X-axis.
Tabular presentation of the three stages of the law
	Units Of Labour 
	Total Product

( Quintals )
	Marginal Product

( Quintals )
	Average Product

(Quintals )

	1

2

3

4

5

6

7

8
	8

17

29

39

45

45

43

38
	8

9

12

10

6

0

-2

-5
	8

8.50

9.67       PHASE 1

9.75

9.00

7.50      PHASE 2

6.14

4.75      PHASE 3


Causes of  increasing return to a factor:
1. Indivisibility of the factors: Generally those factors are taken as fixed which are indivisible. Therefore, when more and more units of the variable factor are added to the constant amount of fixed factor, then fixed factor is more intensively and effectively utilized. This causes the production to increase at a rapid rate.

2. Division of labour:
The second reason is that as more units of the variable factor are employed the efficiency of the variable factor itself increases. 
Causes of diminishing returns:
1. Scarcity of fixed factor
2. Indivisibility of the fixed factor:
3. 3. Imperfect substitutability of the factor: 

4. Causes of negative returns:
5. As the amount of the variable factor continues to be increased to the constant quantity of the fixed factor the variable factor becomes too excessive relative to the fixed factor, so that they get in each others way with the result that the TP falls instead of rising.

COSTS

The sum total of money expenses incurred by firm in production of a commodity is called cost of production

In short run a firm incurs -

1. Fixed Costs -Which don't vary with the change in the level of output (These are also called overhead costs) like rent of land, building, machines etc. Table :

	Quantity of Output
	Fixed Cost (Rs.)

	0

1

2

3
	10

10

10

10
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2. Variable Costs -These costs vary directly with the change in the level of output like labour cost, cost of raw material etc. 

Note -Fixed and variable costs are also called Total Fixed Costs (TFC) and Total variable costs (TVC).Table :

	Output
	Variable Costs(Rs.)

	0

1

2

3
	0

10

18

24
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Table :

	Output
	Fixed Cost (Rs.)
	Variable Cost (Rs.)
	Total Cost (Rs.)

	0

1

2

3
	10

10

10

10
	0

10

18

24
	10

20

28

34
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Average Fixed Costs:

It is per unit Fixed cost = TFC / Q.

Average Variable cost:

Average Variable Cost if per unit variable cost = TVC / Q 

Average Cost :

It is per unit cost = TC/ Q

Tabular representation:

	Output 
	Total Fixed Cost
	Total Variable cost
	Total Cost
	AFC
	AVC
	AC

	1

2

3

4

5
	10

10

10

10

10
	10

18

24

28

32
	20

28

34

38

42
	10

5

3

2.5

2
	10

9

8

7

6.4
	20

14

11.3

9.5

8.4


Both AFC and A VC fall in the beginning



AC


AVC


 AFC

              OUTPUT          (Figure 3.4) 

Marginal Cost: It is defined as the increase in total cost when one additional unit is produced.



       MC





O
  output     (Figure 3.5)

Reason behind U shape of MC

This is because of law of diminishing returns according to which MPP leads to decrease after a certain point

Relationship between AC and MC

1. Both are calculated from TC

2. When  AC falls , MC < AC

3. When MC = AC, AC is minimum.

4. When  AC increases ,MC > AC.

5. MC curve cuts AC curve from below.
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                           (Figure 3.6)
Producer's Equilibrium

A producer / firm is said to be in equilibrium when he gets maximum production with given level of inputs

A firm's profit is defined as TR -TC. When this difference is maximum, firm is in equilibrium

This is explained through two approaches

1. TR and TC approach

2. MR and MC approach

TR and TC approach -A firm is in equilibrium at that level of its output where difference between TR and TC is maximum. Profit is maximum at point Q where the vertical distance between TR & TC is maximum.

Equilibrium of a producer

Tabular Presentation:

	Price (Rs)
	Output

(Units)
	TR (Rs)
	TC 

(Rs
	MC

(Rs)
	MR

(Rs)
	Profit

(TR-TC)
	

	10

10

10

10

10
	1

2

3

4

5
	10

20

30

40

50
	10

18

24

34

46
	10

8

6

10

12
	10

10

10

10

10
	0

2

6

6

4
	MC=MR

MC<MR

MC<MR

Equilibrium

MC>MR


Graphical Presentation:
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(Figure 3.7)

MR and  MC approach -In general a firm's profit maximising condition is MR = MC, But for a competitive firm.

P = MC (Because in  perfect competition P = AR = MR and MC is rising 

curve.


 (Competitive firm chooses its level of output in the rising portion of MC
Revenue

Revenue: It refers to money receipts from the sale of product.

1) Total Revenue : The revenue that a firm gets by selling a given quantity of the product.

Total Revenue (TR) = P x Q

2) Average Revenue :It is the per unit quantity sold.

Average Revenue (AR) =   TR / Q
3) Marginal Revenue = (TR  or MR = TRn -TRn-1 MR is an addition-to TR 

                                      (Q

Tabular and Diagrammatic Representation:

Output


          AR

MR

TR

0



0

0

0

1



10

10

10

2



9

8

18

3



8

6

24

4



7

4

28

5



6

2

30

6



5

0

30

7



4

-2

28
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Relation between AR & MR

1) When MR is more than AR, AR increases

2) When MR = AR, AR is maximum

3) When MR is negative, TR declines

4) When MR and AR are falling MR falls faster than AR 

5) MR can be negative but AR is always positive

6) When MR = AR, AR is constant 
Supply:
It is that quantity of a commodity which a seller or producer is ready to sell in the market at a certain price within a given time period.

Factors Affecting Supply of the commodity.
1) Price of commodity

2) State of technology

3) Prices of factors of production

4) Taxation policy

5) Price of related goods

6) Other factors like natural calamities.

Law of Supply -Other things being constant, there is a direct relation between price of a commodity and its quantity supplied i.e. higher the price more the supply and vice-versa.

Supply Schedule -It is a schedule / table showing different quantities supplied of a commodity by a seller at different prices. 

	Price
	Quantity Supplied

	5

4

3

2
	20

15

12

10


Supply Curve -If supply schedule is shown on a graph, we get a curve which is called supply curve .
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Market Supply: It is the horizontal summation of the supply of a product by all the producers in the market at a given price and at a point of time.

Tabular presentation:

	Price per Unit (in Rs)
	Quantity supplied by A (Units)
	Quantity supplied by B (Units)
	Market Supply (Units)

	5

4

3

2
	4

3

2

1
	6

5

4

3
	10

8

6

4


Diagrammatic Presentation:
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Change in  Quantity Supplied : When there is change in supply of a commodity due to change in price (This is movement along the supply curve)

This Change is of two types.

1) Expansion in supply -Supply increases due to increase in price

(Figure 3.10)

2) Contraction in supply -Supply decreases due to decrease in price.

Change in Supply -(Shift in supply curve) When supply of a commodity changes due to factors other than price, like technique, taxation policy, prices of factors of production etc. This is called change in supply.

This change is of two types:

a) Increase in supply -when supply of a commodity rises due to factor other than price it is increase in supply. In this case the supply curve shifts rightward.

b) Decrease in supply -when supply of a commodity falls due to factors other than price it is decrease in supply. In this case the entire supply curve shifts to the left (upward).
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(Figure 3.11)
Price Elasticity of Supply

It is the measurement of degree of change in supply of a commodity to change in its price.

Es =  (S   x  P

         (P       S

Factors Affecting Elasticity of Supply

1. Nature of commodity

    Durable goods -Elastic

    Non-durable -Inelastic 

2. Change in cost of production -

3. Technique of production

4. Time period.

Methods of Measuring Elasticity

1. Percentage method or Proportionate method.

Es = 
% Change in QS
or 
Proportionate change in Supply  =      (S x   P


% change in price

Proportionate change in Price
       S   x  (P

2.  Geometric method

a)  Es  >  1
                                                       (Figure 3.12)

b) Es  = 1  Supply curve passes through origin.
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c)  Es < 1

       (Figure 3.13) [image: image21.png]Price)





Questions  For Disussion

1. Complete the following table and identify the three phases of the law of variable proportion.

Unit of variable

TPP


APP


MPP

       Input


(units)


(units)


(units)

1 10

2 22

3 30

4 30

5 25

2. Complete the following table assuming that the law of diminishing returns is operating throughout: 

Variable inputs 



MPP

(units)




(units)

2 10

3 -

4 -

5 -

3. Prepare a schedule showing variable input, TPP and MPP on the basis of the law of variable proportion.

4. Complete the following table:

Variable input


TPP

APP

MPP

0




0



---

1




---



20

2




---



26

3




66



---

4




---

19

10

5




---



4


5. * Explain the fallacies in each of the following:

(a) AC is minimized when MC is at its lowest point.

(b) Because fixed costs never change, AFC is constant for each level of output.

(c) AC is rising whenever MC is rising.

(d) The opportunity cost of drilling for oil is zero because no firm produces anything there. 

6. * Show that if the marginal product is always decreasing, the average product is always above the marginal product. 

7. Explain the differences between MC and AVC. Why should AVC always  look like MC? Why is MC the same when computed from VC as from TC?

8. Identify fixed cost and variable costs: 
(i) Salary of permanent staff.

(ii) Interest payment

(iii) Wages to daily wage workers.

(iv) Expenditure on raw materials.

(v) Depreciation.

(vi) License fee.

(vii) Excise duty.

(viii) Sales tax. 

9. Calculate total cost and average variable cost of a firm at each given level of output from its cost schedule given below:
Output (units)

AFC (Rs.)


MC (Rs.)

1



60



32

2



30



30

3



20



28

4



15



30

5



12



35

6



10



43

10.  Explain why MC cuts AC and AVC at their minimum values. Show this  

      with the help of a diagram.
11.  Why is MC curve in the short run ‘U’ shaped?
12. Why is AR=MR under perfect competition?
13. Diagrammatically explain the relationship between TR and MR.
14.  Will a profit maximizing firm in a competitive market ever produce at

    positive level of   output in a range where:

(i) MC is falling.

(ii) The market price is less than the minimum of AVC in the short period.

iii) The market price is less than the minimum of AC in the long run.

Explain with diagrams.
15.  How does  the following effect the supply curve of a firm:

i) Technological purpose.

ii) Imposition of a unit tax.

iii) Increase in input price.

iv) Increase in number of firms.

16.  The following table shows the total revenue and total cost schedules of a competitive firm. Calculate the profit at each output level. Determine also the market price.
	Quantity Sold
	TR(Rs.)
	TC(Rs.)
	Profit

	0
	0
	5
	

	1
	5
	7
	

	2
	10
	10
	

	3
	15
	12
	

	4
	20
	15
	

	5
	25
	23
	

	6
	30
	33
	


            Find also the profit maximizing level of output.

17.  *There are three identical firms in a perfectly competitive market. The following table shows the supply schedule of one (SSI) firm. Complete the market supply schedule.

	Price (Rs.)
	SS1 (Unit)

	0
	0

	1
	0

	2
	2

	3
	4

	4
	6

	5
	8


* Identical firms means having same size of productive plant revenue.

18.  At the market price of Rs. 10 a firm supplies 4 units of output. The market price increases to Rs. 30. The price elasticity of the firm’s supply is 1.25. What quantity will the firm supply at the new price?

19.  Define the concept of a supply schedule and curve. Show that an increase in supply means a right- ward  shift of the supply curve in contrast with the right curve implied by an increase in demand.  

20.  Show that if marginal product is always decreasing, the average product is always above the marginal product. 

21. * What would happen if a tariff of Rs. 20,000 were imposed on importing automobiles? Show the impact with the help of supply curve.

22. * Can you explain why farmers during a depression might approve of a government program requiring that the crops be cut and burnt? 
CBSE Examination Questions (2004 onwards)

	Q1.
	Define fixed cost.

	Q2.
	Define marginal cost.

	Q3.
	Define variable cost.

	Q4.
	Why does average fixed cost fall as output rises?

	Q5.
	What is the relationship between marginal cost and average variable cost? 

	Q6.
	From the following table, calculate average variable cost of each given level of output:

	
	Output (units)

1

2

3

4

Marginal cost (Rs.)

40

30

35

39



	Q7.
	From the following table, calculate average variable cost of each given level of output:

	
	Output (units)

1

2

3

4

Marginal cost (Rs.)

80

70

72

78



	Q8.
	Explain the relationship between marginal cost and average cost with the help of a cost schedule.

	Q9.
	Distinguish between fixed costs and variable costs. Give two examples of each.

	Q10.
	Given below is the cost schedule of a firm. Its total fixed cost is Rs. 100. Calculate average variable cost and marginal cost at each given level of output.

	
	Output (units)

1

2

3

4

Total cost (Rs.)

350

450

610

820



	Q11.
	Given below is the cost schedule of a firm. Its fixed cost is Rs. 50. Calculate average total cost and marginal cost at each given level of output. 

	
	Output (units)

1

2

3

4

Total variable cost (Rs.)

80

150

235

330



	Q12.
	Calculate total variable cost and marginal cost at each given level of output from the following table. 

	
	Output (units)

0

1

2

3

4

Total  cost (Rs.)

40

60

78

97

124



	Q13.
	Complete the following table: 

	
	Output (units)

Total cost (Rs.)

Average variable cost (Rs.)

Marginal cost (Rs.)

0

80

---

---

1

180

---

---

2

270

---

--

3

350

---

---

4

440

---

---



	Q14.
	Distinguish between ‘Change in Supply’ and ‘Change in quantity Supplied’ of a commodity.

	Q15.
	The fixed cost of a firm is Rs. 12. Given below is its marginal cost schedule. Calculate total cost and average variable cost for each given level of output. 

	
	Output (units)

1

2

3

4

5

6

Marginal cost (Rs.)

9

7

2

4

8

12



	Q16.
	Calculate total cost and average variable cost of a firm at each given level of output from its cost schedule given below:

	
	Output (units)

AFC (Rs.)

MC (Rs.)

1

60

32

2

30

30

3

20

28

4

15

30

5

12

35

6

10

43



	Q17.
	Distinguish between fixed cost and variable cost and give one example of each. Draw Average Total cost, Average Variable Cost and Marginal Cost curves in a single diagram.  


CBSE Examination Questions (2004 onwards)

	Q1.
	What causes a downward movement along a supply curve of a commodity?

	Q2.
	What causes an upward movement along the supply curve of a commodity? 

	Q3.
	What causes a movement along the supply curve of a commodity? 

	Q4.
	State the law of supply.

	Q5.
	Define supply.

	Q6.
	When is the supply of a commodity called ‘elastic’?

	Q7.
	Price elasticity of supply of a good is 0.8. Is the supply ‘elastic’ or ‘inelastic’ and why?

	Q8.
	Price elasticity of supply is 1.2. Is its supply elastic or inelastic and why?

	Q9.
	Define market supply.

	Q10.
	What is the price elasticity of a straight line supply curve touching the OY-axis?

	Q11.
	What is the price elasticity of straight line supply curve touching the OX-axis?

	Q12.
	At a price of Rs. 8 per unit, the quantity supplied of a commodity is 200 units. Its price elasticity of supply is 1.5. If its price rises to Rs. 10 per unit, calculate its quantity supplied at new price 3.

	Q13.
	The price elasticity of supply of a commodity is 2.5. At a price of Rs. 5 per unit, its quantity supplied is 300 units. Calculate its quantity supplied at a price of Rs. 4 unit.

	Q14.
	The price of a commodity is Rs. 12 per unit and its quantity supplied is 500 units. When its price rises to Rs 15 per unit, its quantity supplied rises to 650 units. Calculate its price elasticity of supply. Is supply elastic?

	Q15.
	List any three determiners of supply of a commodity. 

	Q16.
	Give three reasons for a rightward shift of supply curve of a commodity?

	Q17.
	Give three reasons for ‘increase ‘in supply of a commodity?

	Q18.
	State any three causes of leftwards shift of supply curve?

	Q19.
	Explain the effect of ‘technological changes ‘on the supply of a product?

	Q20.
	Define market supply of good. Give three causes of a rightward shift of supply curve?

	Q21.
	What is meant by ‘change in supply’? State three factors that can cause’ ‘change in supply’?

	Q22.
	When the price of a commodity falls from Rs. 10 per unit to Rs. 9 per unit, its quantity supplied falls by 20 percent. Calculate its price elasticity of supply?

	Q23.
	The price of a commodity is rs.5 per unit and its quantity supplied is 600 units. If its price rises to Rs. 6 per unit, its quantity supplied rises by 25 per cent. Calculate its price elasticity of supply.

	Q24.
	Due to a 10 per cent rise in the price of a commodity, its quantity supplied rises from 400 units to 450 units. Calculate its price elasticity of supply. Is its supply elastic? 

	Q25.
	A 5 per cent fall in the price of a commodity results in a fall in its quantity supplied from 400 units to 370 units. Calculate its price elasticity of supply. Is its supply elastic?  

	Q26.
	The price elasticity of supply of a commodity is 2. When its price falls from Rs. 10 to Rs. 8 per unit, its quality supplied falls by 500 units. Calculate the quantity supplied at the reduced price. 

	Q27.
	When the price of a commodity rises from Rs. 10 to Rs. 11 per unit, its quantity supplied rises by 100 units. Its price elasticity of supply in 2. Calculate its quantity supplied at the increased price.

	Q28.
	The elasticity of supply of a commodity is 3. An increase in its price from Rs. 20 to Rs. 21 per unit results in a rise in its quantity supplied by 150 units. Calculate its quantity supplied at the increased price.

	Q29.
	Define price elasticity of supply. How is it measured by geometric method? (In case of a straight line supply curve). 

	Q30.
	Distinguish between ‘change in supply’ and ‘change in quantity supplied’ of a commodity. 

	Q31.
	Explain briefly the following determinants of supply: 

i. Increase in the prices of inputs.

ii. Decrease in tax on total product.

iii. Technological change. 

	Q32.
	Define marginal revenue.

	Q33.
	Define total revenue.

	Q34.
	Define average revenue.


	Q35.
	What change should take place in total revenue so that 

(a) Marginal revenue is positive.

(b) Marginal revenue is falling.

	Q36.
	Explain the relationship between total revenue and marginal revenue with the help of a revenue schedule. 

	Q37.
	Complete the following table:

	
	Output (units)

Price (Rs.)

Total revenue (Rs.)

Marginal revenue (Rs.)

1

7

--

--

2

6

--

--

3

4

--

--

4

2

--

--



	Q38.
	Complete the following table:

	
	Output (units)

Price (Rs.)

Total revenue (Rs.)

Marginal revenue (Rs.)

1

14

--

--

2

24

--

--

3

24

--

--

4

16

--

--



	Q39.
	Complete the following table:

	
	Output (units)

Price (Rs.)

Total revenue (Rs.)

Marginal revenue (Rs.)

1

10

--

--

2

8

--

--

3

0

--

--

4

-2

--

--



	Q40.
	What change in total revenue will result in 

(i) decrease in marginal revenue and

(ii) An increase in marginal revenue.

	Q41.
	What will be the effect of the following changes in total revenue on marginal revenue?

(i) Total revenue increases at a decreasing rate.

(ii) Total revenue increases at a constant rate.

	Q42.
	Explain the relation between total revenue and marginal revenue. 

	Q43.
	What is meant by producer’s equilibrium?

	Q44.
	Define the producer’s equilibrium. State its conditions. 


UNIT 4

Different Forms of Market Structure

And Price Determination

Forms of Market Structure

Concepts:

1. Market:

Market refers to that area in which all the buyers and sellers of a commodity are, in close contact with each other and the commodity is bought and sold. 

2.Patent Right :- If any company/firm come up with new product or new technology to produce the existing product. As a reward for risk and investment in research, Firm can apply to government for a patent i.e. the 1egal right to use/produce that product/technology. This is called patent right.

3.Patent Life -Patent rights are valid only for a certain number of years. This period is called patent life.

4.Cartel:

Sometimes firms maintain individual identity but join hands to exercise monopoly powers for the output and pricing policy. This group of firms is called cartel.

i.e. -OPEC (Organization of Petroleum Exporting Countries) 

5.Selling Costs: Selling costs are those costs which are incurred by a firm to increase  sales, like advertisement costs, gifts, rebates on ex expenditure etc

Basis of determination of Market structure:

Market structure is determined by the following factors :-

i) Number of buyers and sellers of a commodity

ii) Competition among them

iii) Nature of commodity

Forms of Market


         Perfect
        Monopoly 
        Monopolistic 
                   Oligopoly

                 Competition

                     Competition

Perfect Competition: A market environment where ( i).All firms in the market produce the same good and  (ii).buyers and sellers are price taker

Features :-

i) Very large number of buyers and sellers

ii) Homogeneous product

iii) Free entry and exist of firms.

iv) Perfect knowledge of market conditions

v) Uniform Price

vi) Mobility of factors of production

vii) Revenue curve -AR and MR straight line parallel to x-axis.

Under this market, market price is determined by the interaction of the forces of demand and supply. Firm charges the price fixed by the industry i.e. each firm is a price taker and can't charge more because of the product being homogeneous and buyers & sellers have perfect knowledge of market conditions. Therefore AR=MR=Price

Figure
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· Under perfect competition, the supply curve of a firm is only the rising portion of MC curve.

· A perfectly competitive firm maximizes its profit or attains equilibrium in short period when two conditions are fulfilled.

i)    P = MC

ii) MC is rising

Figure 
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Monopoly :A market structure in which there is single seller and there are sufficient restriction to prevent any other seller from entering the market.

Features : 

i) Single Seller

ii) No close substitute

iii) Difficult to enter the market

iv) Price discrimination

v) Downward sloping demand curve (less elastic)


Y




Price


MR   AR



O
Output

Monopolistic Competition: is a market structure where there exist a very large number of sellers selling differentiated but substitutable.

Features :-

i) Large number of buyers and sellers.

ii) Product differentiation.
iii) Free entry & exit of firms in the long run.

iv) Selling costs

v) AR and MR curves are downward sloping (Greater elastic)


Y


Price

AR


   MR




0       Output                           X   

Oligopoly: Oligopoly is an industry comprising of few firms producing a bulk of the output. The firms are interdependent on each other for taking price and output decisions. In short, Oligopoly is a market structure characterized by a small number of firms mutually dependent for taking price and output decisions.

Classification :
(i)Perfect vs imperfect oligopoly :If the firms produce homogenous    products, it is called perfect oligopoly or pure oligopoly. Cement industry and Steel industry are two example.

If the firms produce differentiated products, it is called imperfect oligopoly or differentiated oligopoly. Automobile industry is one example.

(ii)Non-collusive vs collusive oligopoly: If the oligopoly firms compete with each other, it is called non-collusive oligopoly. If the firms cooperate with each other than compete in setting price and output, it is called collusive oligopoly.

Revenue curves of the firms
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QUESTIONS FOR DISCUSSION

1.
What does a demand curve of firm show? Draw the demand curve under

(i)
Perfect competition 

ii)
Monopoly

iii)
Monopolistic competition in a single diagram and compare them.

2.
Explain the similarities between 

i)
Perfect competition and monopoly

ii)
Perfect competition and monopolistic competition

3.
Explain the dissimilarities between perfect competition and monopolistic competition.

4.
Explain the similarities and dissimilarities between monopoly and monopolistic competition.

5.
What is the value of MR when the demand curve is elastic?

6.
Comment on the shape of the MR curve in case the TR curve is a 

(i)
Positively sloped straight line

(ii) 
Horizontal straight line

*7.
Will the monopolist firm continue to produce in the short run if a loss is incurred at the best short run level of output.

*8.
Explain why the demand curve facing a firm under monopolistic competition is      negatively sloped.

*9.
What is the reason for the long run equilibrium of a firm in monopolistic competition to be associated with zero profit?

*10.
In long run equilibrium, both perfectly competitive and monopolistic competitive markets achieve tangency between the firms demand curve (AR) and its AC (average cost curve). Discuss the similarities or differences in the two situation with respect to :

(a)
The elasticity of demand curve for firm’s product.

(b) 
the extent of divergence between price and marginal cost.

(c)
Profits.

(d)
Economic efficiency

*11.
What are the main varieties of imperfect competition? In which category would you place?

(i)
Maruti motors

(ii) 
Your local restaurant

(iii)
Microsoft

(iv)
Your college or university

*12.
Explain which of the following statement is false? For each write the correct statement.

(a)
A monopolist maximizes profits when MC = P .

(b)
 The higher the price elasticity, the higher is a monopolist’s price above its MC

(c)
Monopolist ignores the marginal principle.

*13.
Explain why each of the following statements about profit maximizing competitive firms is incorrect. Restate each one correctly.

(a)
A competitive firm will produce output up to the point where price = AVC.

(b)
A firm’s shut down point comes where price is less than minimum average cost

(c)
A firm’s supply curve depends upon its marginal cost. Any other cost concept is irrelevant for supply decisions.

(d)
The P=MC rule for the competitive industries holds for upwards slopping, horizontal and downward stopping MC curve.

(e)
The competitive firm sets price equal to marginal cost.

*14
The market demand curve for a commodity and the total cost for a monopoly firm producing the commodity is given by the schedules below. Use the information to calculate the following:


Quantity
0  
1
2
3
4
5
6
7
8


Price

52
44
37
31
26
22
19
16
13

Quantity
0
1
2
3
4
5
6
7
8


Total Cost
10
60
90
100
102
105
109
115
125  

 (i) 
The MR and MC schedules.

(ii)
The quantities for which MR and MC are equal.

(iii)
The equilibrium quantity of output and the equilibrium price of the commodity.

(iv)
The total revenue, total cost and total profit in equilibrium.

*15

Interpret this dialogue:


(i)
How can competitive profits be zero in the long run? Who will work for nothing?


(ii)
It is only excess profits that are wiped out by competition. Owners get a normal profit in competition in the long run equilibrium-”No more, No less.”

16 Suppose the price at which equilibrium is attained is above the minimum average cost of 

      the firms constituting the market. Now if you allow for free entry and exit of firms, how

       will the market price adjust to it?

17.At what level of price do the farms in a perfectly competitive market supply when free entry and exit is allowed in the market? How is equilibrium quantity determined in such a market?

18.How is the equilibrium number of firms determined in a market where entry exit is permitted?

19. Define oligopoly.Explain one feature which is exclusive to the oligopoly market.

20. State four features of oligopoly.

CBSE EXAMINATION QUESTIONS:-

1. Under which market from a firm is a price taker?

2. In which market from are the products homogeneous?

3. In which market from are average revenue and marginal revenue of a firm always equal?

4. In which market from there is product differentiation?

5. Draw average revenue curve of a firm under perfect competition?

6. State three main features of a monopoly market. Describe any one.

7. State any three main features of monopolistic competition. Describe any one.

8. State clearly any three features of a perfectly competitive market?

9. Why is average revenue curve of a firm under perfect competition .Parallel to X-axis. and negatively slopped under monopoly? 

10.  Draw average revenue curve of a firm under (i) monopoly and (ii) perfect competition. Explain the differences in theses curves, if any?

11. Why is average revenue curve of a monopolist less elastic than the average revenue curve of a firm under monopolistic competition?

12. Explain the features ‘large number of buyers and sellers ‘of a perfectly competitive market.

13. Explain the feature ‘differentiated products’ of a market with monopolistic competition.
Price determination under perfect competition:
Basic concepts:

1.Equilibrium -It means the state of balance or position of rest.

2.Market Equilibrium :- It is defined by the equality between quantity demanded "and quantity supplied. In other words, the situation of zero excess demand and zero excess supply defines market equilibrium.

3.Excess demand: excess demand refers to a situation where quantity demanded exceeds  quantity supply .

4.Excess supply: refers to a situation where quantity supplied exceeds quantity demanded

5.Equilibrium Price -It is the price at where quantity demanded and quantity supplied are equal.

Price 

Demand 
Supply 

Trend

25 

200 

1000 

Excess Supply

20 

400 

800 

Excess Supply

15 

600 

600 

Equilibrium

10 

800 

400 

Excess Demand

5 

1000 

200 

Excess Demand

Fig. I
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What happens when demand and supply curve don't intersect each other?

A situation may arise when demand curve and supply curve do not intersect with each other at any positive quantity. This means the product in question will not be produced in the economy. The industry is not economically viable.

Demand curve lies below supply curve which indicates that there is no demand for the product because the price is too high for the consumers. As a result, the product will not be produced.


                                        Fig.ii

Effect of shifts in Demand And Supply on Equilibrium Price

a)  Effect of change in demand on same supply curve.

· Increase in demand, Supply remaining constant

 Result : Increase in Price and Quantity.

Fig iii

Decrease in demand, Supply remaining the same.

                                                         [image: image25.png]


 Fig.iv


Result : Decrease in Price & Quantity.

b)  Effect of change in Supply on same demand curve.

Increase in supply, demand remaining constant.

                                                        Fig.v
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Result: Decrease in price and increase in quantity.

Decrease in supply, demand remaining same.                                      

Fig. vi
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Result : Increase in price and decrease in quantity.

Simultaneous change in demand and supply.

Decrease in supply and demand proportionately.

                                                       Fig vii
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Result : Price remains same and decrease in quantity.

Increase in supply and demand in the same proportion.

                                                     Fig. viii
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Result : Price remains same and increase in QD and QS.

Case 3: when increase in supply is by a higher proportion as compared to the increase in demand the equilibrium price falls from OP to OP1.

                                         [image: image30.png]



Case 4. when increase in supply is by a smaller proportion as compared to the increase in demand, the equilibrium price increases from OP to OP1.
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Sources of Demand Shifts :

The market demand curve can shift because of 

i)  Change in income.

ii)  Change in the price of related goods.

iii) Change in tastes

iv) Change in market size

Sources of Supply Shifts

i)  Technological progress

ii) Change in input prices

iii)Change in excise taxes

iv) Increase in the price of substitute goods in production

v) Number of firms

vi) Other factors like weather, natural disasters such as cyclones, floods etc.

QUESTIONS FOR DISCUSSION

1. How are equilibrium price and quantity affected when income of the consumers 

(a) (a)   Increase                     (b) decrease?

2. using supply and demand curves, show how an increase in the price of shoes

(a) affects the price of a pair of socks and the number of pairs of socks bought and sold.

3. How will a change in the price of coffee affect the equilibrium price of tea  

Explain the effect on equilibrium quantity also through a diagram.

4. How do the equilibrium price and quantity of a commodity change when price of input used in its production changes?

5. If the price of substitute (Y) of good X increases, what impact does it have on the equilibrium price and quantity of good x?

6. Compare the effect of shift in demand curve on the equilibrium when the number of firms in the market is fixed with the situation when entry- exit is permitted?

7. Explain through a diagram the effect of a right shift of both the demand and supply curve on equilibrium price and quantity?

8. Can you think of any commodity on which price ceiling is imposed in India? What may be the consequence of price – ceiling?

9. Identity the market forms on basis of the following data

	10. Output sold (units)
	11. Price of X (Rs)
	12. Price of Y (Rs)

	13. 100
	14. 8
	15. 10

	16. 150
	17. 9
	18. 10

	19. 200
	20. 10
	21. 10


10. Identify the equilibrium price and quantity

	8 Price (Rs)
	9 Demand (Units)
	10 Supply (Units)

	11 5
	12 100
	13 500

	14 4
	15 200
	16 400

	17 3
	18 300
	19 300

	20 2
	21 400
	22 200


*11.  Explain why the price in competitive markets settles down at the equilibrium intersection of supply and demand .explain what happen if the market starts out too high or too low.

     *12. The following are four laws of supply and demand. Fill in the blanks. Demonstrate each law with a supply and demand diagram.

(a) An increase in demand generally raises price and raises quantity demanded.

(b) A decrease in demand generally _________ price and _________ quantity demanded.

(c) An increase in supply generally lowers price and raises quantity demanded.

(d) A decrease in supply generally ________ price and _________ quantity demanded.

*28. For each of the following, explain whether quantity demanded changes because of a demand shift or a price change, and draw a diagram to illustrate your answer:

                  (a)        as a result of decrease military spending , the price of army boots fall.

(b)       Chicken meat prices fell after the spread of bird flue in poultry farms.

(c)        An increase in taxes lowers the consumption.

(d)        After the spread of epidemic causing huge loss of mankind, wages  increased. 

*Q.29
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Examine the graph for the price of oil in the figure. Then using demand and supply diagram, illustrate the impact of each of the following on price and quantity demanded.

(a)Improvement in transportation lowers the cost of importing oil into the country.

(b)After the 1973 war , oil producers cut oil production sharply.

     ( c)  After 1991 , due to implementation  of new economic policy of the oil imports increased in the country.

     ( d)   A global economic recovering in 1999-2000 led to a sharp upturn in oil prices.

*30.     Examine the figure below. Does the price –quantity relationship look more like a  supply curve or a demand curve?
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Figure:- Declining computer prices have an explosive growth in computers. Assuming that the demand curve was unchanged over this period, trace a supply curves for 1972 and 2000 that would have generated the pairs for these years. Explain what forces might have led  to the shift in supply curves.

*31. From the following data, plot the supply and demand curves and determine the equilibrium price and quantity.:-

	Price 
	Q-D
	Q-S

	10
	2
	20

	9
	4
	12

	8
	6
	10

	7
	8
	8

	6
	10
	6

	5
	12
	4

	2
	20
	2


What would happen if the demand tripled at each price? What would occur if the  price were initially set at Rs8?

Hint 

	Price 
	Q-D
	Q-S
	New Q -D

	10
	2
	20
	6

	9
	4
	12
	12

	8
	6
	10
	18

	7
	8
	8
	24

	6
	10
	6
	30

	5
	12
	4
	36

	2
	20
	2
	60


New equilibrium prices Rs 9. 

CBSE EXAMINATION QUESTIONS

1. What is meant by equilibrium price?

2. Explain the chain of effects on demand, supply and price of a commodity caused by a leftward shift of its demand curve. Use diagram

3. Explain the changes that take place when at a given price of a commodity there is excess supply of it. Use diagram

4. A product market is in equilibrium. Suppose the demand for the product decreases. What changes will take place in the market? Use diagram

5. If at a given price of a commodity, there is excess demand how will the equilibrium price be reached?

6. Explain with the help of diagram the effect of a rightward shift of supply curve of commodity on its equilibrium price and quantity.

7. If at a given price of commodity there is excess supply, how will the equilibrium price be reached? Explain with the help of diagram.

8. Explain the effect of a leftwards shift of demand curve of a commodity on its equilibrium price and quantity, with the help of diagram.

9. Explain with the help of a diagram the effect of a leftward shift of the supply curve of a commodity on its equilibrium price and quantity.

10. At a given price of a commodity, there is excess supply. What changes is establish the equilibrium price? Explain with the help of diagram.

11. How is equilibrium price and equilibrium quantity of a normal commodity affected by an increase of its buyers? Explain with the help of diagram.

12. How will an increase in the income of the buyers of an ‘inferior good’ affect its equilibrium price equilibrium quantity? Explain with the help of diagram.

13. Explain the process of price determination under perfect competition with the help of a schedule and a diagram.

14. When will (a) simultaneous increase and) simultaneous decrease in both demand and supply not effect the equilibrium price? Explain with the help of diagram.

15. Why must the quantity demanded and quantity supplied of a commodity be equal at its equilibrium price? Explain.

Unit 5
(Not to be examined) 

Simple applications of tools of demand and supply curve.
The theory of supply and demand can be used to answer a wide range of practical questions. When a new tax is put on petrol, do drivers bear the burden of tax or does it falls on the companies? Or it is shifted on consumers? Does raising the minimum wage helps workers or hurt them ?When an airline lowers the price of its ticket , will the number of passengers increase so much that total revenue actually raises?

                           In order to turn supply and demand into a truly useful tool, we need to know how much supply and demand responds to changes in price. Some purchases like those for vacation travel are very sensitive to price changes others, like food or electricity, are necessasities for which consumer purchases responds very little to price changes. The quantitative relationship between price and quantity purchased is analysed using the critical concepts of elasticity of demand and supply. The application of this concept will be, when we examine the microeconomic impacts of taxes and other type of government intervention.

 The Paradox of Bumper Harvest 

                      We can use the analysis to illustrate one of the most famous paradox of the bumper harvest. Imagine that in a particular year nature smiles on farming. Timely and sufficient rainfall in India allows a record crop to come to market .But bumper crop have lowered the income of the farmers Due to increase in supply , less elastic demand of  farm products , price falls income of farmers fall in such a situation government intervenes by adapted policy of minimum price ceiling:

                            Government fixes the price above the equilibrium price.

Policy of Minimum Price ceiling ( Price floor)

                         Fig. 5.1    
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In this situation, there is surplus (the excess supply). The producers are not able to sell whole product. Government purchases this product through procurement policy. 

 Policy of maximum price ceiling:                            

Price control policy means government fixes price below the equilibrium price. In this situation demand exceeds supply .Government adopts rationing to control this situation.

The excess demand is met by selling the amount of product through ration shops which are also called fair price shops.

                            Fig. 5.2.

        Diagrammatic Explanation
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UNIT 6

NATIONAL INCOME AGGREGATE

National Income and Related Agreements

Basic concepts:

Micro Economics:    It explains the behavior of an individual unit of an economy. E.g. a consumer, a firm, an industry, a market.

Macro Economics: deals with the economy as a whole with respect to output, income ,the general price level, foreign trade, unemployment, and other economic aggregates.

A Production Unit: means the owners of factors of production joining hands by forming a unit with the objective of producing a good or a service.

Factor Owners: It respects to the individual owners of four factors of production- land, labour, capital and entrepreneurship.

Factor income: refers to the income created in production units as a joint effort of factor owners.

Leakages: In the process circular flow of income, firms and households save a part of their income, this is called Leakages.

Injection: when firms borrow for investment in plant and equipment etc. it increases production capacity and is called injections.

National Income Accounts: It is the systematic statistical record of the money value of goods and services produced by various producing sectors of an economy. It also shows distribution of national income among the various factors of production as well as final consumption expenditure incurred. The estimation of national income accounts is based on double entry system of accounting.

Functions of national income Account~ :- It has the following two main functions.

1. It shows the special economic achievements of the country.

2. Provides basis for the critical evaluation and appraisal of the economic policies. 
Uses of national income accounting :-

1. It shows the distribution of national income among various factors of production. 

2. Provides information about the contribution of various sectors to national income. 

3. It provides information about the changes in the structure of an economy.

4. It helps in the appraisal of strength and weaknesses of an economy.

5. It provides information about the changes taking place in standard of living, distribution of income and structural changes in national income.

6. It enables to compare the national income of one country with other countries of the world.

 Circular flow of National Income: It is a pictorial illustration of interdependency between the major sectors of the economy.

Two -Sector Economy



Factor Services
Factor Market


Factor payment                               









Goods and Service





Payment of Goods & services


                                                                          Product Market 

Circular Flow of Income in a Two Sector Economy

1. The circular flow in a two sector economy will keep on flowing without end as there is no leakage from and injection in the income stream.

2. Whatever is produced by firms is consumed by the household sector.

3. Factor payments by firms are equal to factor income of household sector.

4. Whatever is the factor income of the household sector is spent on consumption.

QUESTION FOR DISCUSSION:

1.What are the major objective of Macroeconomics ?Write a brief definition of each of these objectives. Explain carefully why each of these is important.

Hint

 All market Economies face three Mcro Eonomic objectives. 

(a) Why do output and employment sometimes fall, and how can unemployment be reduced?

(b) What are the sources of price inflation, and how can it be kept under control?

(c) How can a nation increase its rate of economic growth? 

* Q.2  You sometime hear , “ You can n’t add apples and oranges  “Show  that we can add and do add apples and oranges in the national account.”  Explain how. 

* Q.3 In recent decades women have worked more hours in paid jobs and fewer hours in unpaid household work. 

(a) How would this increase in work hours affect GDP?

(b) Explain why this increase in measured GDP will over state the true increase in output. 

(C) Explain the paradox, “when a person marries his maid, GDP goes down”. 

CBSE QUESTION QUESTIONS (2004 ONWARDS)

1. Is the study of cotton textile industry a macro economic study or a micro economic study? 

2. Give two examples of Mcro Economic studies. 

3. What is macro economics?

4. Give an example of a microeconomics?

5. Give two examples of microeconomic study. 

6. Why is the study of problem of unemployment in India considered a Macro Economic study? 

7. Is the study of general price level a macro economic study? 

NATIONAL INCOME AGGREGADES

CONCEPTS : - 

ECONOMIC TERRITORY

 Economic territory includes the following-

a)-Political frontiers including territorial waters and air space

b)-Embassies, consultants, military bases etc. located abroad

c)-Ships, aircrafts etc., operated by the residents between two or more countries

d)-Fishing vessels, oil and natural gas rigs etc, operated by residents in the international waters or other areas over which country enjoys exclusive rights or jurisdiction.

RESIDENT

A resident, whether a person or an institution, is one whose centre of economic interest lies in the economic territory of the country. In which he lives or is located.

DEPRECIATION (Consumption of fixed capital)

It refers to the fall in the value of fixed capital goods due to normal wear and tear and foreseen obsolescence.

INDIRECT TAXES

The burden of these taxes is shifted to buyers. Since the burden indirectly falls on buyers. They are called indirect taxes e.g. sales tax, excise duty etc.

SUBSIDIES

Subsidies are financial assistance by government to enterprises on production of a certain commodity.

The effect of subsidies is to bring down the price like: indirect tax it is also generally passed on to the consumers.

NET FACTOR INCOME FROM ABROAD (NFIA)

NFIA equals factor income received by resident from abroad less factor income paid to non residents.

GDPmp is the values of contribution to production by all the production units located with in the economic territory of a country, undiminished by consumption of fixed capital and indirect tax.

NDPnp is the values of contribution to production by all the production units located with in the economic territory of a country. Diminished by consumption of fixed capital but undiminished by net indirect tax.

NDPfc  is the values of contribution to production by all the production units located with in the economic territory of a country , diminished by consumption of fixed capital and net indirect tax.
GDPmp – Consumption of fixed capital = NDPmp
                NDPmp – net indirect tax = NDPfc
                GDPfc + net indirect tax= GDPmp
A national aggregate is a statistical measure of the contribution of residents of a country towards economic production carried out both inside and outside the economic territory of the country.

GNPmp is the values of the contribution of residents of a country towards economic production undiminished by consumption of fixed capital and net indirect tax.

NNPmp is the value of contributions of residents of a country towards economic production diminished by the consumption of fixed capital but undiminished by net indirect tax.

NNPfc is the value of contribution of residents of a country towards economic production diminished by consumption of fixed capital and net indirect tax.
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GROSS NATIONAL DISPASABLE INCOME (GNDI)

GNDI = GNPmp + Net current transfers from abroad.
NET NATIONAL DISPLOSABLE INCOME (NNDI)

NNDI = NNPmp + Net current transfers from abroad.

DISPOSABLE INCOME AGGREGATES OF PRIVATE SECTOR

Income from DP accruing to the private sector = NDPfc

· Income from property and entrepreneurship accruing to government administrative departments.

· Saving of non-departmental enterprises.

PRIVATE INCOME

Private Income = Factor incomes accruing from NDPfc to the private sector


+ Net factor income from abroad.

+ National debt interest.

+ Net current transfers from government.

+ Net current transfers the rest of the world.

PERSONAL INCOME

Personal income = private income – Retained earning of the private corporate sector – Corporate income tax.

PERSONAL DISPOSABLE INCOME

 Personal Disposable Income


= Personal Income – Direct taxes paid be households


- Miscellaneous receipts of government administrative departments.

APPLICATION QUESTIONS
1. Given the following calculate (a) private income (b) personal income and (c) personal disposable income:









(Rs. In crores)

	(i)
	NNPfc
	1000

	(ii)
	Direct taxes paid by households.
	70

	(iii)
	Income from property and entrepreneurship accruing to the government administrative departments.
	100

	(iv)
	Corporate profit tax.
	30

	(v)
	Savings of non-departmental enterprises.
	150

	(vi)
	Retained earnings of private corporate sector.
	40

	(vii)
	Net current transfers from government.
	20

	(viii)
	National debt interest.
	50

	(ix)
	Net current transfers from the rest of the world.
	10

	(x)
	Net factor income from abroad.
	(-)5

	(xi)
	Miscellaneous receipts of government administrative departments.
	10


2. Calculate the personal disposable income from the following:










(Rs. In crores)

	(i)
	Miscellaneous receipts of government administrative departments.
	10

	(ii)
	Corporate profit tax.
	30

	(iii)
	Retained earnings of private corporate sector.
	20

	(iv)
	Direct taxes paid by households.
	40

	(v)
	Private income.
	300

	(vi)
	Net current transfers from the rest of the world.
	5

	(vii)
	Net factor income from abroad.
	10




3. Find out private income:









(Rs. In crores)

	(i)
	National debt interest.
	60

	(ii)
	Net indirect tax.
	70

	(iii)
	GNPmp 
	600

	(iv)
	CFC
	30

	(v)
	Income from property and entrepreneurship accruing to the government administrative departments.
	20

	(vi)
	Savings of non-departmental enterprises.
	40

	(vii)
	Net factor income from abroad.
	10

	(viii)
	Net current transfers from the rest of the world.
	15

	(ix)
	Net current transfers from government.
	25

	(x)
	Corporate profit tax.
	35


4. Calculate national income:












(Rs. In crores)

	(i)
	Corporate profit tax.
	10

	(ii)
	Miscellaneous receipts of government administrative departments.
	5

	(iii)
	Net factor income from abroad.
	1

	(iv)
	Net current transfers from the rest of the world.
	(-)3

	(v)
	Direct taxes paid by households.
	10

	(vi)
	Retained earnings of private corporate sector.
	7

	(vii)
	Income from property and entrepreneurship accruing to the government administrative departments.
	12

	(viii)
	National debt interest.
	8

	(ix)
	Net current transfers from government.
	2

	(x)
	Savings of non-departmental enterprises.
	6

	(xi)
	Personal disposable income.
	100


5. Calculate private income:



(Rs. In crores)

	(i)
	Household’s final consumption expenditure.
	80

	(ii)
	Direct taxes paid by households.
	8

	(iii)
	Net current transfers from the rest of the world.
	3

	(iv)
	Corporate profit tax.
	5

	(v)
	Retained earnings of private corporate sector.
	5

	(vi)
	Miscellaneous receipts of government administrative departments.
	2

	(vii)
	Household’s savings.
	20


6. Find out Gross National Disposable Income and Net National Disposable Income from the following data relating to India four the year 1995-96.

(Rs. In Arabs)

	(i)
	NDP at factor cost.
	895

	(ii)
	Current transfers received from the R/W.
	22

	(iii)
	Indirect tax.
	142

	(iv)
	Consumption of fixed capital.
	112

	(v)
	Subsidies.
	30

	(vi)
	Net factor income received from abroad.
	(-)13

	(vii)
	Current transfers paid to abroad.
	0


7. Which of the following are transfer payments and which are factor payments?  

    Give reasons.

	1
	Tution fees paid to school.

	2
	Monthly payments made to the maid-servant.

	3
	Comtribution made to the National Defence Fund.

	4
	Electricity bill paid to Delhi Vidyut Board.

	5
	Offering at the religious places.

	6
	Payment of interest by a production unit.

	7
	Payment of interest on loans taken to meet household expenses.

	8
	Scholarship to a student.

	9
	Cash award to a winner in the race.

	10
	 Government helps to an accident victim. 

	11
	Payment of income tax.


C.B.S.E. EXAMINATION QUESTIONS (2004 onwards)

1. Calculate Gross National  Disposal Income from the following data:

    Rs.        (Crores)

	(i)
	National income.
	2,000

	(ii)
	Net current transfers from rest of the world.
	200

	(iii)
	Consumption of fixed capital.
	100

	(iv)
	Net factor income from abroad.
	(-) 50

	(v)
	Net indirect taxes.
	250




   (3 marks)

Ans. G.N.D.I.  = GNPmp + NCT R/W


= (N.I. + CFC + NIT) + NCT R/W


= (2000 + 100 + 250) + 200



= 2350 + 200 = Rs. 2550.

2. Calculate Gross National Disposal Income from the following data:

Rs. 

(Crores)

	(i)
	Net national product of factor cost.
	3,000

	(ii)
	Net factor income from abroad.
	(-) 50

	(iii)
	Consumption of fixed capital.
	150

	(iv)
	Net indirect taxes.
	250

	(v)
	Net current transfers from rest of the world.
	300




   (3 marks)

Ans. G.N.D.I.  = (I + iii + iv) + (v)



= (GNPmp) + (NCT R/W)



= (3000 + 150 + 250) + (300)



= 3400 + 300



= Rs. 3700 crores.

3. Calculate Net National Disposal Income from the following data: 

(Rs. Crores)

	(i)
	Gross national product at factor cost.
	800

	(ii)
	Net current transfers from rest of the world.
	 50

	(iii)
	Net indirect taxes.
	70

	(iv)
	Consumption of fixed capital.
	60

	(v)
	Net factor income from abroad.
	(-)10


  

 (3 marks)

Ans. G.N.D.I.  = GNPmp + NCT R/W


= (GNPFC + NIT) + NCT R/W



= (i + iii) + ii

= (800 + 70) + 50



= Rs. 920 crores.

4. Calculate Net National Disposal Income from the following data:

(Rs. Crores)

	(i)
	Gross domestic product at the market price.
	1,000

	(ii)
	Net factor income from abroad.
	 (-)20

	(iii)
	Net indirect taxes.
	120

	(iv)
	Consumption of fixed capital.
	100

	(v)
	Net current transfers from rest of the world.
	50


  

 (3 marks)

Ans. NNDI      = NNPMP + NCT R/W


= (GNPMP  - CFC + NFIA) + NCT R/W



= i – iv + ii + v

= 1000 + 100 + (-20) + 50



= Rs. 930 crores.

5. Calculate Net National Disposal Income from the following data: 

(Rs. Crores)

	(i)
	Gross domestic product at the market price.
	1,500

	(ii)
	Net factor income from abroad.
	 (-)20

	(iii)
	Consumption of fixed capital.
	100

	(iv)
	Net current transfers from rest of the world.
	(-)30

	(v)
	Net indirect taxes.
	120


  

 (3 marks)

Ans. NNDI      = NNPmp + NCT R/W


= (GNPmp  - CFC + NFIA) + NCT R/W



= i – iii + ii + iv

= 1500 + 100 + (-20) + (-30)



= Rs. 1350 crores.

6. Calculate (a) private income, and (b) personal disposable income from the following data:










             (Rs. Crores)

	(i)
	Income from property and entrepreneurship accruing to the government administrative departments.
	500

	(ii)
	Savings of non-departmental enterprises.
	100

	(iii)
	Corporate tax.
	80

	(iv)
	Income from domestic product accruing to private sector.
	4,500

	(v)
	Current transfer form government administrative departments.
	200

	(vi)
	Net factor income from abroad.
	(-)50

	(vii)
	Direct personal taxes.
	150

	(viii)
	Indirect tax.
	220

	(ix)
	Current transfers from rest of the world.
	80

	(x)
	Savings of private corporate sector.
	500


      (6 marks)

Ans: Pvt. Income

=  iv + v + ix + vi





=  4500 + 200 + 80 +(-50)





= 4500 + 200 +80 – 50 = Rs.4370 Crores


PDI


=  Pvt. Income – iii – x – vii





= 4730 - 80 - 500 - 150 = Rs.4000 Crores.

7. Calculate (a) private income, and (b) personal disposable income from the following  data:

         (Rs. Crores)

	(i)
	Savings of private corporate sector.
	500

	(ii)
	Current transfers from rest of the world.
	60

	(iii)
	Corporate tax.
	80

	(iv)
	Current transfer form government administrative departments.
	170

	(v)
	Direct  personal taxes.
	150

	(vi)
	Income from domestic product accruing to private sector.
	4,500

	(vii)
	Savings of non-departmental enterprises.
	250

	(viii)
	Net factor income from abroad.
	(-)30

	(ix)
	Net exports
	(-)50


             (6 marks)

Ans: Pvt. Income

=  vi + viii + iv + ii





=  4500 + (-30) + 170 + 60





= 4500 – 30 + 170 + 60 = Rs.4700 Crores

8.  Explain briefly the distinction between:


(a) Gross domestic product at factor cost and Net national product at market price.


(b) National income and Net Disposable Income.

9. Calculate (a) private income, and (b) personal disposable income from the following data:










               Rs.       (Crores)

	(i)
	 Net Indirect tax.
	90

	(ii)
	Compensation of employees
	400

	(iii)
	Personal tax.
	100

	(iv)
	Operating surplus
	200

	(v)
	Corporate profit tax.
	80

	(vi)
	Mixed income of the self-employed.
	500

	(vii)
	National debt interest.
	70

	(viii)
	Savings of non-departmental enterprises.
	40

	(ix)
	Current transfers from rest of the world.
	60

	(x)
	Income from property and entrepreneurship accruing to the government administrative departments.
	30

	(xi)
	Net current transfers to the rest of the world.
	20

	(xii)
	Net factor income from abroad.
	(-)50



Ans: (a) NNDI

=  ii + iv + vi + xii + i - xi





=  400 + 200 + 500 + (-50) + 90 – 20 





= Rs.1120

        (b) Private income = (ii + iv + vi) – viii – x + xii + vii + ix – xi



              = (400 + 200 + 500) – 40 – 30 + (-50) + 70 + 60 – 20




  = 100 – 40 – 30 – 50 + 70 + 60 – 20



              = Rs. 1090 crores. 

CONCEPTS USED IN MEASUREMENT OF NATIONAL INCOME

INTRODUCTION: 

There are three methods of measuring national income: Production, Income distribution and Final expenditure methods. There are various concepts in addition to the ones already explained, involved in these methods. These concepts are explained below:

Intermediate Consumption/

Intermediate products:

Intermediate products refer to those goods and services which are purchased during the year by one production unit from other production units and completely used up, or resold, during the same year.

Final Expenditure:

 Final expenditure refers to the expenditure incurred on final products.

Goods and services purchased, or own produced, for the purposes of    consumption and investment are final products.

Final expenditure refers to the expenditure on goods and services meant for final consumption and investment.

Value of output:

Value of output equals quantity of output produced during the year multiplies by the price per unit.


Value of output = Sales + closing stock – Opening stock



Or
= Sales + Net change in stock


Value added:


Meaning:
Value added is a measure of contribution of a production unit to the domestic product. Value added, in fact, is value added to the intermediate products.


GVAmp = Value of output – Intermediate consumption


NVAmp = GVAmp – deptreciation


NVAfc = NVAmp – indirect tax + subsidies


NVAfc = Wages + rent + interest + profits


           = Factor payments.


Numerical Illustrations:

From the following data calculate value added by firm X and by firm Y:

	(i)
	Closing stock of firm X.
	20

	(ii)
	Closing stock of firm Y.
	15

	(iii)
	Opening stock of firm Y
	10

	(iv)
	Opening stock of firm X
	5

	(v)
	Sales by firm X
	300

	(vi)
	Purchases by firm X from firm Y
	100

	(vii)
	Purchases by firm Y from firm X
	80

	(viii)
	Sales by firm Y
	250

	(ix)
	Import of raw material by firm X
	50

	(x)
	Exports by firm Y
	30









                    
(C.B.S.E. 2000)

Solution:

V.A. by X = v + i – vi – ix


    
     = 300 + 20 – 100 – 50


   
     = Rs. 165 lakhs

V.A. by Y = viii + ii – iii – vii


   
     =  250 + 15 – 10 – 80


  
     =  Rs. 175 lakhs

Note: Item (x) is already included in item (viii) and so is not considered.
CONCEPTS USED IN INCOME METHOD

FACTOR PAYMENTS:

Factor payments are the payments made by production units to factor owners for the services rendered by them to these units.

These are:

1) Compensation of employees

2) Rent and royalty

3) Interest 

4) Profit

 In addition, in practical estimates, there is another category called mixed income of the self-employed.

COMPENSATION OF EMPLOYEES:

“Compensation of employees is the total remuneration in cash, in kind and in the form of social security contributions by employers, payable by an enterprise to the employees in return for the work done by them during an accounting period.”

RENT AND ROYALTY:

Rent is defined as the amount payable, in cash or in kind, by the tenant to the landlord for the use of land for production. 

Royalty is defined as the amount payable to the landlord for granting the leasing rights of subsoil assets only.

INTEREST:

Interest as a factor payment is defined as the amount payable by a production unit for the use of money borrowed.

PROFIT:

Profit as a factor payment, is the amount payable to the owner of the production unit for his entrepreneurial abilities.

MIXED INCOME:

Mixed income, in national income accounting, means income payment by production units having elements of more than one type of factor payments.

OPERATING SURPLUS:

The sum of rent royalty, interest and profits is called operating surplus.

CONCEPTS IN EXPENDITURE METHOD

FINAL EXPENDITURE

Final expenditure means expenditure on final products, i.e., on consumption and investment. It includes:

(a) Private Final Consumption Expenditure (PFCE)

     PFCE is the sum of final consumption expenditure by households and  

     PNPISH for satisfaction of wants of the residents of a country.

(PN PISH: Pvt. Non- Project institution serving household)). 

(b) Government Final Consumption Expenditure (GFCE)

      GFCE is the expenditure incurred by general government on providing  

      free services to the people e.g. Government charities, donations, etc.

(c) Gross Domestic Capital Formation (GDCF)

        GDCF is addition to the stock of capital undertaken by production units 

        located within economic (domestic) territory of a country.

COMPONENTS:

 (i) Fixed Capital Formation

It is in the form to acquiring capital assets like building, machinery, equipments, etc. having a life of more than one year. Such assets are called fixed capital assets.

Fixed capital formation can be classified into three distinct categories: 

(a) undertaken by business enterprises, (b) on construction of houses and (c) undertaken by general government.

Expenditure on fixed investment by business enterprises in on building, machinery, equipments, etc. A business  enterprise undertakes such investment with the intention of earning profit.

Expenditure on residential construction, i.e., on houses, is undertaken by households. In national income accounting, it is treated as fixed investment, and the house owner treated as a producer of housing services.

Expenditure undertaken by general government (and not government enterprises) on construction roads, bridges, dams, buildings, etc, in public interest, is also treated fixed investment, called public fixed investment.

(ii) Investment In Stocks (Inventory Investment)

Inventory investment means the expenditure incurred on adding to stocks of raw materials, semi-finished goods and finished goods. It equals closing stock less opening stock.

GDCF = GDFCF + Change in stocks

NDCF = GDCF – Consumption of fixed capital

NDFCF = GDFCF – Consumption of fixed capital

(d) Net Exports

Net exports equal exports less imports.

Net exports = Exports – Imports

Expenditure on Domestic Product:

The sum of PFCE, GFCE, GDCF and net exports is expenditure on domestic product. It is technically called GDPmp. It is nothing but the value of final products produced by the production units located within the economic territory of the country.

APPLICATION QUESTIONS

Q.1. Are the following, final products or intermediate products? Give reasons in support  of your answer.

	1
	Raw materials, purchased by an enterprise.

	2
	Truck, purchased by a factory. 

	3
	Food items, purchased for office canteen.

	4
	Readymade clothes, purchased by an individual.

	5
	Book, purchased by a student.

	6
	A refrigerator, installed in an office.

	7
	A sofa-set purchased by a household.

	8
	Electricity consumption in a school.

	9
	Water, purchased for irrigating farms.

	10
	Tractor, purchased by a farmer.

	11
	Telephone call charges paid by an individual.

	12
	Postage items purchased by a firm.

	13
	Stationery items purchased by a government office.

	14
	Expenditure on research by a firm.

	15
	Arms and armaments, purchased by the defence  department.

	16
	Computer, purchased by a self-employed chartered accountant.

	17
	Fertilizers, purchased for kitchen garden.

	18
	Seeds, purchased by a farmer.

	19
	Services of an electrician purchased by a bank.

	20
	House, purchased by a family.


CBSE EXAMINATIN QUESTIONS (2004 onwards)

1. From the following data, calculate “gross value added at factor cost.”

        Rs. (in lakhs)

	(i)
	Sales
	180

	(ii)
	Rent
	5

	(iii)
	Subsidies
	10

	(iv)
	Change in stock
	15

	(v)
	Purchase of raw materials
	100

	(vi)
	Profits
	25











               (3 marks)

Ans: GVAfc = i + iv - v + iii = 180 + 15 – 100 + 10 = Rs. 105 lakhs.

2. From the following data, calculate “gross value added at factor cost.”

         Rs. (in lakhs)

	(i)
	Net indirect tax
	20

	(ii)
	Purchase of intermediate products
	120

	(iii)
	Purchase of machines
	300

	(iv)
	Sales
	250

	(v)
	Consumption of fixed capital
	20

	(vi)
	Change in stock
	30











              (3 marks)

Ans: GVAfc = iv +  vi – ii –i

         = 250 + 30 – 120 - 20 = Rs. 140 lakhs.

3. From the following data, calculate “gross value added at factor cost.”

         Rs. (in lakhs)

	(i)
	Sales
	500

	(ii)
	Change in stock
	30

	(iii)
	Subsidies
	40

	(iv)
	Consumption of fixed capital
	60

	(v)
	Purchase of intermediate products
	350

	(vi)
	Profits
	70











               (3 marks)

Ans: GVAfc = (i) + (ii) – v –iii

         = 500 + 30 – 350 - 40 = Rs. 140 lakhs.
4. Calculate Gross Value Added at factor cost from the following data:

        Rs. (in crores)

	(i)
	Consumption of fixed capital
	5

	(ii)
	Sales
	100

	(iii)
	Subsidies
	2

	(iv)
	Closing Stock
	10

	(v)
	Purchase of  raw materials
	50

	(vi)
	Opening stock
	15

	(vii)
	Indirect tax
	10











               (3 marks)

Ans: GVAfc = ii + iv – vi – v – vii + iii

         = 100 + 10 – 15 -50 – 2

          = Rs. 28 crores

5. Calculate Net Value Added at market price from the following data:

       Rs. (in crores)

	(i)
	Depreciation
	5

	(ii)
	Sales
	100

	(iii)
	Opening stock
	22

	(iv)
	Intermediate consumption
	70

	(v)
	Excise duty
	10

	(vi)
	Change in Stock
	(-)10











              (3 marks)

Ans: NVAmp = ii + vi – iv – i

         = 100 + (-10) – 70 -5

          = Rs. 15 crores

6. From the following data about Firm ‘A’, calculate Net value added at market price by it:

       Rs. (in crores)

	(i)
	Sales
	700

	(ii)
	Change in stock
	40

	(iii)
	Depreciation
	80

	(iv)
	Net Indirect tax
	100

	(v)
	Purchase of machines
	250

	(vi)
	Purchase of intermediate products
	400











             (3 marks)

Ans: NVAmp = i + ii – vi – iii

         = 700 + 40 –400 -80

          = Rs. 260 crores

7.  Explain the following terms giving suitable examples:


     (i) Final products.

     (ii) Intermediate expenditure.

     (iii) Transfer Payment.

METHODS OF MEASUREMENT OF NATIONAL INCOME

INTRODUCTION:

There are three methods of estimating national income. These are production, income and expenditure methods.

PRODUCTION METHOD:

What it Measures ?

In this method we measure the contributions of the different industrial sectors of the economy to GDPmp.

Steps in Measurement:

(1) Classify all the production units located in the domestic (or economic) territory into distinct industrial sectors. The units are traditionally classified into primary, secondary and tertiary sectors.

(2) Estimate NVAfc of each industrial sector by taking the following sub-steps:

(a) Estimate value of output: it can be estimated in two ways:

(1) As sum of sales and net addition to stocks, and

(2) Quantity of output multiplied by price.

(b) Estimate value of intermediate consumption. Deduct the same from value of  output to arrive at GVAmp.

(c) Estimate consumption of fixed capital. Deduct it from GVAmp to arrive at  NVAmp. 
(d) Find out net indirect tax (= indirect tax – Subsidies). Deduct it from NVAmp  to arrive at  NVAfc  of an industrial sector.

(3) Take the sum of NVAfc of all the industrial sectors of the economy. By doing so we will arrive at NDPfc.

SNVAfc  = NVAfc

(4)  Estimate net factor income from abroad and add. Add the same to NDPfc  

       to arrive at the measure of national income.

NDPfc  + NFIA = NNPfc = National income

 Precautions to be taken in Making:


Estimates

While estimating national income by the value added method the  following precautions must be taken:

(1) Avoid double counting of output

(2) Include value of own-account production in total output

(3) Do not include sale of second hand goods

INCOME DISTRIBUTION METHOD

What is Measures?

This method is called income distribution method, because in this method we measure the factor incomes paid out (i.e., distributed) to the owners of factors of production by the various industrial sectors of the economy.

Steps in Measurement

(1) Classify the production units located within the economic territory into distinct industrial sectors on activity basis.

The units are broadly classified into primary, secondary and tertiary sectors

(2) Estimate factor incomes paid out by each industrial sector.

(3) Take the sum of  NVAfc  i.e., the factor incomes paid out, by all the industrial sectors to arrive at NDPfc
∑ NVAfc = NDPfc
(4) Estimate NFIA and add to NDPfc  to arrive at NNPfc i.e., national income

NDPfc + NFIA = NNPfc = National Income

Precautions

(1) Include imputed value of factor services rendered by the owners of production units.

(2) Do not include any transfer incomes.

(3) Do not include capital gains arising from sale of second hand goods.

(4) Do not include income arising from the sale of financial assets.

FINAL EXPENDITURE METHOD

What it measures ?


In expenditure method we measure the expenditures incurred on final products produced by production units located within the domestic (economic) territory during a given year.

Steps in Measurement


(1) Classify production units into industrial sectors.


Classify them into primary, secondary and tertiary sectors.


(2) Estimate final expenditure on goods and services produced by these industrial sectors.


These final expenditures are categorized as follows:

(a) Private final consumption expenditure (PFCE)

(b) Government’s final consumption expenditure (GFCE)

(c) Gross domestic capital formation (GDCF)

(d) Net exports (= Exports – Imports)

(3) Take the sum of these final expenditures to obtain the measure of GDPmp’



PFCE + GFCE + GDCF + Net exports = GDP mp

(4) Estimate the consumption of fixed capital and net indirect taxes and deduct these from GDP mp  - Consumption of fixed capital – Net  indirect tax = NDPfc’

 GDP mp – Consumption of fixed capital – Net indirect tax = NDPfc

       (5) Add net factor income from abroad (NFIA) to NDPfc




NDPfc  + NFIA =  NDPfc = National Income          

Precautions in Measurement

The following precautions are required to be taken while estimating national income by the expenditure method:

(1) Do not include expenditure on intermediate goods and services.

(2) Include imputed expenditure on self-consumed or own account produced output used for consumption and investment.

(3) Do not include expenditure on transfer payments.

(4) Do not include expenditure on financial assets.

(5) Do not include expenditure on second hand goods.

Real and Nominal National Income : 

Real National Income: When the value of the N.I. is calculated on the basis of multiplying the output of the year by the prices of the base year. 

Real N.I. = output X Price of base year. 

Nominal National income: When the value of the N.I. is calculated on the basis of multiplying the output of the year by the prices of the current year.

Nominal N.I = output X Price of current year 

Formula to calculate Real GDP:

GDP Nominal 

GDP Deflator

GDP Deflator = Nominal GDP   X 100


       Real GDP

GDP and Welfares

Can the GDP of a country be taken as an index of the welfare of the people of that country there are at least three reasons why this may not be correct

Distribution of GDP – be concentrated in the hands of very few individuals or firms. For the rest, the income may in fact have fallen. In such a case the welfare of the entire country cannot be said to have increased.

Non- monetary exchanges- Many activities in an economy are not evaluated in monetary terms. For example, the domestic services women perform at home are not paid for. This is a case of underestimation of GDP. Hence GDP calculated in the standard manner may not give us clear indication of the productive activity and well-being of a country.

Externalities- Externalities refer to the benefits (or harms) a firm or an individual causes to another for which they are not paid (or penalized). Externalities do not have any market in which they can be bought and sold.. But carrying out the production the refinery may also be polluting the nearby river. This may cause harm to the people who use the water of the river. Hence their utility will fall. Pollution may also kill fish or other organisms of the river. Such harmful effects that the refinery is inflicting on others, for which it does not have to bear any cost, are called externalities. Therefore, if we take GDP as a measure of welfare of the economy we shall be overestimating the actual welfare. This was an example of negative externality. There can be cases of positive externalities as well. In such cases GDP will underestimate the actual welfare of the economy. Finally we have noted that it may be incorrect to treat GDP as an index of the welfare of the country.

CBSE EXAMINATION QUESTIONS (2004 onwards)

1. Will the following be a part of domestic factor income of India? Give reasons for your answers.



        (6 marks)

	(i)
	Old age pensions given by the Government.

	(ii)
	Factor income from abroad

	(iii)
	Salaries to Indian residents working in Russian Embassy in India.

	(iv)
	Profits earned by a company in India, which is owned by a non-resident.


Ans: 

	(i)
	Old age pensions are not a part of domestic income because no factor service is rendered in return.

	(ii)
	Factor income from abroad is not a part of domestic income because it is earned by the residents from outside the economic (domestic) territory.

	(iii)
	Salaries to Indian residents working in Russian Embassy is not a part of domestic product of India because Russian embassy is a part of Russian economic territory. It is factor income from abroad.

	(iv)
	Profits earned by a non-residential owned company in India is a part of domestic product of India because the income is created within the economic (domestic) territory of India

2. 



2. From the following data, calculate National Product at Market Price by  
(i) income method and (ii) expenditure method:

(6 marks)   



(Rs. Crores)

	(i)
	Mixed income of self- employed
	400

	(ii)
	Compensation of employees
	500

	(iii)
	Private final consumption expenditure
	900

	(iv)
	Net factor income from abroad
	(-) 20

	(v)
	Net indirect tax
	100

	(vi)
	Consumption of fixed capital
	120

	(vii)
	Net domestic capital formation
	280

	(viii)
	Net exports
	(-)30

	(ix)
	Profits
	350

	(x)
	Rent
	100

	(xi)
	Interest
	150

	(xii)
	Government final consumption expenditure
	450


Ans: (i) GNPMP = COE + R + I + P + Mixed I + NFIA + CFC + NIT +


 (Income method) = ii + x + xi + ix + i + iv + vi +  v

=  500 + 100 + 150 + 350 + 400 + (-20) + 120 + 100

= Rs. 1700 crores.

GNPMP = PFCE + GFCE + GDCF + Net X + NFIA

(Exp. Method) = iii + xii + (vii + vi) + viii + iv

= 900 + 450 + (280 + 120) + (-30) + (-20) = Rs. 1700 crores.

3. Will the following be included in domestic factor income of India? Give  reasons for your answer.




(6 marks)

	(i)
	Profit earned by a foreign bank from its branches in India.

	(ii)
	Scholarships given by Government of India.

	(iii)
	Profits earned by a resident of India from his company in Singapore.

	(iv)
	ssssS   Salaries received by Indians working in American Embassy in India.


Ans: 

	(i)
	Profit earned by a foreign bank is included in domestic product of India because the bank’s branches are located in the Indian domestic territory.

	(ii)
	Scholarships is a transfer payment because no service is provided in return. So, it is not included in domestic income.

	(iii)
	Profits earned by an Indian company in Singapore is not included in domestic product of India because company is located outside the economic (domestic) territory of India.

	(iv)
	ssssS   Salaries received by Indians working in American Embassy in India is not   

            included because the embassy is treated as a part of American domestic territory  

            and not of India.                     

      


4. Will the following be included in National Income of India? Give reasons for your answer.




            ( 6 marks) 

	(i)
	Financial help given to flood victims.

	(ii)
	Profits earned by an Indian bank from its branches abroad.

	(iii)
	Salaries paid to non-resident Indians working in Indian Embassy in America.

	(iv)
	            Interest received by an individual from banks.                                               


Ans: 

	(i)
	Financial help is a transfer payment because no factor service is provided in return. It is, therefore, not included in national income.

	(ii)
	Profit earned by an Indian bank from its branched abroad is factor income from abroad, and so included in national income.

	(iii)
	Salaries paid to NRI’s working in Indian embassy in America is factor income paid to abroad. It is not include in India’s national income.

	(iv)
	Interest received by an individuals from banks is a factor payment by a productive enterprise. It is included in national income.


5. From the following data calculate national income by (a) income method and (b) expenditure method.


       (6 marks)        Rs. (Crores)

	(i)
	Private final consumption expenditure
	2,000

	(ii)
	Net capital formation
	400

	(iii)
	Change in stock
	50

	(iv)
	Compensation of employees
	1,900

	(v)
	Rent
	200

	(vi)
	Interest
	150

	(vii)
	Operating surplus
	720

	(viii)
	Net indirect tax
	400

	(ix)
	Employees’ contribution to social security schemes
	100

	(x)
	Net exports
	20

	(xi)
	Net factor income from abroad
	(-)20

	(xii)
	Government final consumption expenditure
	600

	(xiii)
	Consumption of fixed capital
	100


Ans: N.I. (Income method) = iv + vii + xi




       = 1900 + 720 + (-20) = 1900 + 720 – 20




     = Rs. 2600 crores.

       N.I. (Exp. Method) = i + xii + ii + x + viii + xi




 = 2000 + 600 + 400 + 20  - 400 + (-20)




 = 2000 + 600 + 400 + 20 – 400 - 20




=  Rs. 2600 crores.

6.  Will the following factor incomes be included in domestic factor income of India? Give reasons for your answer.
       ( 6 marks) 

	(i)
	Compensation of employees to the residents of Japan working in Indian embassy in Japan.

	(ii)
	Profits earned by a branch of foreign bank in India.

	(iii)
	Rent received by an Indian resident from Russian embassy in India.

	(iv)
	Prod   Profits earned by a branch of State Bank of Indian in England.


Ans: 

	(i)
	It is a part of domestic factor income of India because the Indian embassy in Japan is a part of domestic territory of India.
	

	(ii)
	It is a part of domestic factor income of India because the foreign bank is located in the domestic territory of India.
	

	(iii)
	It is not a part of domestic income of India because Russian embassy in India is not a part of domestic territory of India.
	


QUESTIONS FOR DISCUSSION

1. Distinguish between stock and flow. Between net investment and capital which is a stock and which is a flow? Compare net investment and capital with flow of water into a tank. 

2. What is the difference between planned and unplanned inventory accumulation? Write down the relation between change in inventories and value added of a firm. 

3. Write down the three identities of calculating the GDP of a country by the three methods. Also briefly explain why each of these should give us the same value of GDP. 

4. Suppose the GDP at market price of a country in particular year was Rs. 1100 crores. Net factor income from abroad was Rs 100 crores. The value of indirect taxes subsidies was Rs 150 crores and national Income was Rs 850 crores. Calculate the aggregate value of depreciation. 

5. Net national Product at Factor cost of a particular country in a year is Rs 1.900 crores. There are no interest payments made by the households to the firms/ government, or by the firms/ government to the households. The personal Disposable income of the households is Rs 1,200 crores. The personal income taxes paid by them is Rs 600 crores and the value of retained earnings of the firms and government is valued at Rs 200 crores. What is the value of transfer payments made by the government and firms to the households? 

6. In a single day Raju, the barber , collects Rs 500 from  haircuts: over this day, his equipment depreciates in value by Rs 50. of the remaining Rs 450. Raju pays sales tax worth Rs 30. taken home Rs 200 and retains Rs 220 for improvement and buying of new equipment. He further pays Rs 20 as income tax from his income. Based on this information, complete Raju’s contribution to the following measures of income (a) Gross Domestic Product (b) NNP at market price (c) NNP at factor cost (d) personal income (e) personal disposable income. 

7. * What are the major objective of macroeconomic? Write a brief definition of each of these objectives. Explain carefully which each of these is important. 

Hint


All market economic face three macroeconomic  objectives. 

(a) Why do output and employment sometimes fall and how can unemployment  be reduced?

(b) What are the sources of price inflation, and how can it be kept under control?

(c) How can a nation increase its rate of economic growth.?

8. * You sometime here, you can’t add apples and oranges, “show that we can and    do add apples and oranges in the national accounting”. Explain how. 

9. * In recent decades women have worked more hours in paid jobs and fewer hours in unpaid housework. 

(a) How would this increase in work hours affect GDP?

(b) Explain why this increase in measured GDP will over state the true increase in output. 

(c) Explain the paradox, “When a person marries his maid, GDP goes down”. 

**10. What, if anything, would be the effect of each of the following on the as curve in both the short run and long run, other things being constant? 

(i) Potential output increases by 25%. (ii) The threat of war leads the government to raise defense spending and RBI offsets the expansionary impact of this through tight money  (iii) Successful collusion among OPEC countries lead to tripling of world oil prices. 

CBSE EXAMINATION QUESTIONS (2004 ONWARDS) 

1. Will the following be a part of domestic factor of India? Give reasons for your answers. 

(i) Factor income from abroad. 

(ii) Salaries to Indian residents working in Russian Embassy in India. 

(ii) Profits earned by a company in India, which is owned by a non – resident. 

Ans.  
(i) Old age pension is not a part of domestic income because no factor service  is rendered in return. 

(ii) Factor income from abroad is not a part of domestic income because it is earned by the residents from outside the economic (domestic) territory. 

(iii) Salaries to Indian residents by the Russian embassy is not a part of domestic product of India because the income is created within the economic (domestic) territory of India. 

(iv) Profits earned by a non-resident owned company in India is a part of domestic product of India because the income is created within the economic (domestic) territory of India. 

2.
From the following data, calculate National Product at Market Price by (i) income method and (ii) expenditure method: 








Rs. 




(i) Mixed income of self –employed


400


(ii) Compensation of employees 


500


(iii) Private final consumption expenditure

900


(iv) Net factor income from abroad


(-) 20



(v) Net indirect tax 




100


(vi) Consumption of fixed capital 


120


(vii) Net domestic capital formation


280


(viii) Net exports 




        (-) 30


(ix) Profits 






350


(x) Rent






100


(xi) Interest 






150


(xii) Government final consumption expenditure
450

Ans. 
(i) GNP = COE + R+I+P+ Mixed I+ CFC + NIT (Income method) = ii+x+xi+ix+i+iv+vi+v 


= 500+100+150+350+400+(-20)+120+100


= Rs 1700 crores 

         GNP MP =  PFCE+GFCE+GDCF+net X+NFIA

(Exp. Method) = iii+xii+ (vii=vi) +iv



= 900+450+(280+120)+ (-30) + (-20)



= Rs 1700 crores 

3. Will the following be included in domestic factor income of India? Give reasons for your answer. 


(i) Profit earned by a foreign bank from its branches in India. 


(ii) Scholarships given by Government of India. 


(iii) Profits earned by a resident of India from his company in Singapore. 


(iv) Salaries received by Indians working in American Embassy in India. 

Ans.    (i) Profit earned by a foreign bank is included in domestic product of India 

because the bank’s branches are located in the Indian domestic territory. 

(ii) Scholarships is a transfer payment because no service is provided in return. So, it is  not included in domestic income. 

(iii) Profits earned by an Indian company in Singapore is not included in domestic product of India because the company is located outside the economic (domestic) territory of India. 

(iv) Salaries received by the Indians working in American embassy in India is not included because the embassy is treated as a part of American domestic territory and not of India. 

4. Will the following be included in National Income of India? Give reasons for your answer. 

(i) Financial help given to flood victims. 

(ii) Profits earned by an Inian bank from its baranches abroad. 

(iii) Salaries paid to non-resident Indians working in indian Embassy in America. 

(iv) Interest received by an individual from banks. 

Ans. 
       (i)       Financial help is a transfer payment because no factor 

service is provided in return. It is, therefore, not included in national income. 

(ii) Profit earned by an Indian bank from its branches abroad is factor income from abroad, and so included in national income. 

(iii) Salaries paid to NRI’s working in Indian Embassy in America is factor income paid to abroad. It is deducted from India’s national income. So it is not included in India’s national income. 

(iv) Interest received by an individuals from banks is a factor payment by a productive enterprise. It is included in national income. 

5.  From the following data calculate national income by (a) income method and (b)  expenditure method. 

(Rs.Crores) 


(i) Private final consumption expenditure 



2,000


(ii) Net capital formation 





400


(iii) Change in stock 






50


(iv) Compensation of employees




1,900


(v) Rent 







200


(vi) Interest 







150


(vii) Operating surplus 





720


(viii) Net indirect tax 






400


(ix) Employees’ contribution to social security schemes 

100


(x) Net exports 






20


(xi) Net factor income from abroad




(-) 20


(xii) Government final consumption expenditure 


600


(xiii) Consumption of fixed capital 




100

Ans. NI  ( Income method) 
= iv+vii+xi





= 1900+720+ (-20)= 1900+720-20





= Rs. 2600 crores. 


NI. (exp. Method) 
= i+xii+ii+x-viii+xi





= 2000+600+400+20-40+(-20)





= 2000+600+400+20-400-20





= Rs 2600 crores 

6. Will the following factor incomes be included in domestic factor income of India? Give reasons for your answer. 

   (i) Compensation of employees to the residents of Japan working in Indian embassy in Japan. 


(ii) Profits earned by a branch of foreign bank in India. 


(iii) Rent received by an Indian resident from Russian embassy in India. 


(iv) Profits earned by a branch of State Bank of Indian in England. 

Ans. 
(i) It is a part of domestic factor income of India because the Indian embassy in   Japan is a part of domestic territory of India. 


(ii) It is a part of domestic factor income of India because the foreign bank is located in the domestic territory of India. 


(iii) It is not a part of domestic income of India because Russian embassy in India is not a part of domestic territory of India. 

7.
From the following data calculate national product at factor cost by 


(a) Income method and (b) expenditure method: 










(Rs. in cores)


(i) Current transfers form rest of the world



100


(ii) Government final consumption expenditure 


1000


(iii) Wages and salaries 





3800


(iv) Dividend 







500


(v) Rent 







200


(vi) Interest 







150


(vii) Net domestic capital formation 




500


(viii) Profits







800


(ix) Employers contribution to social security schemes 

200


(x) Net exports 




      
       
(-) 50


(xi) Net factor income from abroad


       

(-) 30


(xii) Consumption of fixed capital 




40

(xiii) Private final consumption expenditure 



4000


(xiv) Net indirect tax 






300

Ans. (a)  NDP FC (income method) = (iii +ix)+v+vi+viii+xi

= (3800+200) +200+150+800) + (-30). 

= 400+200+150+800-30

=5120 crores 


NDPFC (exp. Method) = xiii+ii+vii+x-xiv-xi


= 4000+1000+500+ (-50)- 300+(-30)


= 4000+1000+500-50-300-30


= 5120 crores 

8. Will the following  factor incomes be a part of domestic factor income of India? Give reasons for your answer. 

(i) Profit earned by foreign banks from their branches in India. 

(ii) Salary received by Indian residents, working in American embassy in India. 

(iii) Profits earned by an Indian company from its branch in Singapore. 

(iv) Compensation of employees given to residents of China working in Indian embassy in China. 

Ans. 
(i) It is a part of domestic product of India because the branches of foreign banks are located within domestic territory of India. 


(ii) It is a part of domestic product of India because American embassy in India is not a part of domestic territory of India. 


(iii) It is not a part of domestic product of India because the Indian company is located outside the domestic territory of India. 


(iv) It is a part of domestic product of India because the Indian embassy in China is part of domestic territory of India. 


(v) will he following be included in the national income of a country?


Give reasons for your answer. 


(i) School fees paid by students. 


(ii) Purchase of new shares of a domestic firm. 


(iii) Gifts received from abroad. 


(iv) Furniture purchased by households. 

Ans. 
(i) Included because it is a final consumption expenditure. 


(ii) Not included because it does not lead to creation of any good or service. 


(iii) not included because it is a transfer payment. 

(v) Included because it is a final consumption expenditure. 

10.
Differentiate between factor payment and transfer payment explain briefly the concept  of mixed income of self employed. 

11.
 Calculate (i) Net Domestic product at Factor cost, and (ii) personal Income from the following data: 










(Rs. in crores) 


(i) Private final consumption expenditure 



700


(ii) Savings of non-departmental enterprises



20


(iii) Net domestic fixed capital formation



100


(iv) Undistributed profits 





5


(v) Change in stock






10


(vi) Corporation tax 






35


(vii) Net exports 






40


(viii) Income from property and entrepreneurship accruing to the government administrative departments. 





30


(ix) National debt interest





40


(x) Government final consumption expenditure


150


(xi) Current transfers from government



25


(xii) Net factor income from abroad


       

(-) 10



(xiii) Net current transfers from the rest of the world
10


(xiv) Net indirect tax 






60


(xv) personal taxes 






35

Ans. (a) NDP FC 
= i+x+(iii+v) –xiv




= 700+150+(100 +10+40-60




= Rs 940 crores 

Personal income 
= NDP FC – ii-xiii+xii+ix+xi+xiii-vi-iv




= 940-20-30+(-10)+40+25+10-5




= Rs 915 crores 

12. Explain the income method of estimating domestic factor income. Also explain any three precautions that should be taken while using this method. 

13. From the following data, calculate. 


(a) National income and 


(b) personal disposable income










Rs. (in crores) 

(i) Compensation of employees 





1200

(ii) Rent 








400

(iii) Profit 








800

(iv) Consumption of fixed capital





300

(v) Mixed income of self-employed 





1000

(vi) Private income 







3600

(vii) Net factor income from abroad



         

(-) 50



(viii) Net retained earrings of private enterprises



200


(ix) Interest 








250

(x) Net indirect tax







350

(xi) Net exports 







(-) 60

(xii) Direct tax paid by households 





150

(xiii) Corporation 







100

Ans.  N.I.
= i+ii+iii+ix+v+vii



= 1200+400+800+250+1000+(-50)



= Rs 3600 crores 

14.  From the following data, calculate (a) national income, and (b0 personal disposable income. 












Rs. 

(i) Private final consumption expenditure 




2000

(ii) Private income 







2900

(iii) Government final consumption expenditure 



1000

(iv) Change in stock 






          (-) 40

(v) Gross domestic capital formation 





600

(vi) Consumption of fixed capital 





50

(vii) Net exports 







(-)60

(viii) Net factor income from abroad





(-) 40

(ix) Net indirect tax 







150

(x) Direct tax paid by households





200

(xi) Corporation tax







300

(xii) Net retained earnings of private 
enterprises



150

Ans. N.I.
 = i+iii+v+vii+vi+ix+viii



= 2000+1000+600+(-60) -50-150 + (-40)



= Rs 3300 crores 


PDI 
= ii-xi-xii-x



= 2900-300-150-200



=Rs. 2250 crores 

UNIT 7

MONEY AND BANKING

Meaning : Money plays an important role in an economic system. Money is defined as anything that is generally accepted as a medium of exchange.
Barter System:

In olden time goods were exchanged for goods. It was barter system. This Economy was called C-C economy

This system has following drawbacks.

1. There is absence of a common unit in terms of which value of goods and services can be fixed.

2. Lack of double coincidence of wants.

3. Lack of its ability of future payments.

4. It does not provide for any method of storing generalized purchasing power.

FUNCTIONS OF MONEY

Many perform following four functions that overcome the drawback of barter system.

1. A unit of value: Money is a measuring mode, by which the value of goods and services are expressed

2. Money is a medium of exchange: Money came into use to remove inconvenience of barter system. It act at a medium of exchange or as medium of payment

3. Money as a standard of Deferred payments: Differed payments refer to those payments which are made sometimes in the future. Loans are taken and repaid in future in terms of money. All future payments can be made in money.

4. Money as a store of value: Money being generally accepted is the best form of reserve. Holding money is equivalent to keeping a reserve of liquid assets because it can be easily converted into other things

DEFINITIONS OF MONEY

Legal Definition of money:

(i) Legal tender Power: It has legal power to discharge debts, a creditor can’t refuse it.

(ii) Fiat Money: It is legal tender money because it serves on the fiat (order) of the government.

(iii)    Fiduciary money:  demand deposits of banks are fiduciary money because they are accepted as money on the basis of trust their issuer commands.

Functional Definition: All those things that performs the four major functions of money i.e.  Unit of value, medium of exchange, standard of deferred payments and store of value.

Narrow and Broad definitions of money: Narrow definition includes the function of medium of payments only while Broad definition includes time and saving deposits. Mi is narrow money

Indian Currency System

· In India we have paper currency system or managed currency standard. R.B.I. Is the monetary authority. Paper currency is our main currency. It is unlimited legal tender money. Coins are limited legal tender money. The System of note issue in India is minimum Reserve System and is Inconvertible in gold.

MONEY SUPPLY : Supply of money is a stock variable measured at a point of time. Stock of money means stock of money hold by public.

Time series of total stock of money is prepared to see its effects on income, prices, employment etc.

In India RBI has been  publishing data on four alternative measures of money supply.

(i) M1 : C + DD + OD (Currency held with public + Demand deposits + OD with RBI)

OD with RBI is public money and RBI acts as custodian.

(ii)M2 : M1 + saving deposits of Post Office

(iii) M3: M1 + Net time deposits with Banks

(Net means inter banks deposits are not included)

(iv) M4: M3+Post Office total deposits (Demand deposits and time deposits)

The Four measures of money supply have different degrees of Liquidity. M1 is the most Liquid and M4 the least Liquid.
BANKING 

Commercial Banks: Banking is defined as the accepting deposits for the purpose of lending and investment from the public, repayable on demand or otherwise. 

Functions of commercial Banks:-

A) Acceptance of deposits: The bank accepts three types of deposits from the public 1) Current account deposits 20 Fixed/term deposit 3) Saving account deposits. 

B) Advancing Loans:- The different types of loans and advances made by banks are as follows- cash credit, demand loans, and short term loans and over draft. 

C) Credit Creation:- Banks create credit by giving more loan than their cash reserves. 

The working:

Suppose new deposits of Rs. 1000 are made in banks. Let the LRR be 20%. Let us assume that bank keep only 20% of deposits as cash and no more. It means that banks keep only Rs.200 as cash reserve and lend the remaining amount of Rs. 800. Lending means that banks creates deposits of Rs. 800 in the names of borrowers. This is the first round creation and equals 80% of the initial deposits.  Now suppose, borrowers withdrew the entire amount of loan and spend the same on goods and services. It means that the sellers of these goods receive Rs. 800 and deposit the same in their respective bank accounts.  The banks get new deposits. They keep 20% of these deposits i.e. Rs 160, as cash and lend the remaining Rs 640 and so on. The working of the deposit creation process is summed up in the following table:

Table:The working of deposit creation by commercial banks:

	
	Deposits
	Loans
	Cash Reserves

	Initial

First Round

Second Round

.

.

.
	1000

800

640
	800

640

512
	200

160

128

	
	5000
	4000
	1000


Central Bank :-  The central bank is the apex institution of a country’s monetary system. The design and control of the country’s monetary policy is its main responsibility. India’s central bank is the Reserve Bank of India. 

FUCNTIONS OF CENTRAL BANK

1) Currency Authority:- The central Bank is the sole authority for the issue of currency in the country. All the currency issued by the central bank is its monetary liability. This means that the central bank is obliged to back the currency with assets of equal value. 

2) Banker to the government:- The central bank acts as a banker acts as a banker to the government both central as well as state governments. It carries out all the banking business of the government and the government keeps its cash balances on current account with the central bank. 

3) Bankers bank and supervisor :- As the banker to banks, the central bank holds a part of the cash reserves of banks, lends them short term funds and provides them with centralized clearing and remittance facilities. 

4) Controller of Money Supply and Credit:- The central bank controls the money supply and credit in the best interests of the economy by various instruments as quantitative and qualitative instruments. 

Quantitative Instrument:- 

A)Bank Rate Policy:- The bank rate is the rate at which the central Bank lends funds as a lender of last resort to banks against approved securities or eligible bills  of exchange. 

B) Open Market Operations: Open market operations is the buying and selling of government securities  by the central bank from to the public and banks on its own account. The sale of government securities to banks have the effect of reducing their reserves. 

C) Varying Reserve Requirements (Legal Reserve Ratio): Banks are obliged to maintain reserves with the central bank on two accounts. One is the cash reserve ratio and the other is statutory liquidity Ratio. SLR is the fraction of legal reserves, the banks are required to keep as cash within the bank itself. The CRR is the ratio the banks are required to keep with Central bank. Varying CRR and SLR are tools of monetary and credit control. 

II) Qualitative Credit Control. A) Imposing margin requirement on secured loans: A margin is the difference between the amount of the loan and market value of the security offered by the borrower against the loan. The advantages of this instrument are manifold. 

B) Moral suasion: This is a combination of persuasion and pressure that the Central Bank applies on the other banks in order to get them to fall in line with its policy. 

C) Selective credit controls: These can be applied in both a positive as well as a negative manner. 

QUESTION FOR DISCUSSIONS
1. What are the main functions of money? How does money overcome the shortcomings of a barter system? 

2. What is a legal tender? What is flat money? 

3. What is High Powered Money? 

4. Explain the functions of a commercial bank. 

5. What is money multiplier? How will you determine its value? What ratios play an important role in the determination of the value of the money multiplier? 

6. What are the instruments of monetary policy of RBI? How does RBI stabilize money supply against exogenous shocks? 

7. Do you consider a commercial bank creator of money in the economy? 

8. What role of RBI is known as lender of last resort? 

9. **Define M1 and M2? What is in included in M2? What is in M2 but not in M1. Relate each of the components of M2 to the factors behind the demean for money. 

10. ** What would be the effect on demand for money M1 of each of the following (with other things held equal)?

(i) An increase in real GDP. 

(ii) An increase in price level. 

(iii) A rise in interest rate on savings accounts and treasury securities. 

(iv) A doubling of all prices, wages and income. (Calculate the effect on demand for money). 

11. **Explain whether each of the following should be counted as part of the narrow money (M1) travelers cheques,  savings accounts postage stamps and credit cards. 

12. ** Suppose reserve requirements were abolished. What would determine the lvel of reserves in the banking system? What would happen to the money supply multiplier in this situation? 

13. ** The RBI has decided that unemployment is rising too sharply and wants to reverse this trend by expending money supply. What steps must be taken to expand money? 

14. ** “A government deficit is bad because it leads to rapid monetary growth” Explain why this statement is wrong? 

CBSE EXAMINATION 

1. Define money supply. 

2. Briefly explain any two functions of money. 

3. State the four functions of money. Describe any one. 

4. Explain the store of value function of money. 

5. Explain any one problem faced in the barter system. How has money solved this problem? 

6. Explain the unit of value function of money. 

7.  State any three methods by which a central bank tries to control the quantity of credit. 

Explain any one of the following functions of a central bank. 


(i) Currency authority, and (ii) lender of last resort. 

8. How does a central bank control the availability of credit by open market operations? 

9. State of any four functions of a commercial bank. Describe any one. 

10. How does a central bank perform the function of controller of credit? 

11. Explain the meaning and any one function of a commercial bank. 

12. Describe the banker to the government function of the central bank. 

13. Distinguish between a commercial bank and central bank. 

UNIT 8

DETERMINATION OF INCOME AND EMPLOYMENT
Concepts:  

Voluntary Unemployment means that stage in which people consciously decide not to work at prevailing wage rate. 

Involuntary unemployment means that stage when workers are able to work and seek employment at the prevailing wage rate but do not get it. 

Full employment means that stage where all the people who are willing and able to work, at the prevailing wage rate get work. 
AGGREGATE  SUPPLY  AND AGGREGATE DEMAND CURVES 
Following diagram shows the aggregate supply and aggregate demand of the entire economy. Total Output (Real GDP) is shown on the horizontal axis and overall price level on the vertical axis. We use Q for output and P for price level. The downward sloping AD curve shows what everyone in the economy (consumers, businesses, foreigners and government) would buy at different price level. The upward rising AS curve represents the quantity of goods and services that all the producers are willing to produce and sell at different price level.

         Therefore, a macro economic equilibrium is a combination of overall price and quantity at which all buyers and sellers are satisfied with their sales, purchases and prices.
[image: image35]
In figure 1 equilibrium price is OP and quantity is OQ at which all the buyers ,sellers are satisfied .But according to macro analysis this equilibrium  output level may or may not be full employment level.

CLASSICAL CONCEPT OF AGGREGATE SUPPLY
Classical school of economics believed that aggregate supply would always be at full employment level. The classical aggregate supply curve is shown in Fig.2.The supply curve is vertical line at full employment level showing no effect on output of the change in price. 

The theoretical foundation of this full employment equilibrium level is based upon the assumption of (a) Say’s law of market and (b) Wage flexibility. Classical V/s Keynesian View on Equilibrium/Full Employment.
The Classical believed that there would always be full employment equilibrium in the economy. Full employment  means a situation where everyone who is willing to work at prevailing wage rate gets the job. Even in such a situation voluntary unemployment may exist where as according to Keynes equilibrium level may or may not be at Full employment level.

According to Classicals the equality between aggregate demand and aggregate supply is established by the price flexibility or wage flexibility, where as in Keynesian analysis equality in aggregate demand and aggregate supply is established by the changes in the level of income/output/employment.

AGGREGATE DEMAND & ITS COMPONENTS 

Aggregate Demand often written as AD is the sum of spending by Consumers, Businesses, government and foreigners on National Product. Following are the components of AD

AD=C+I+G+(X-M)

1.Consumption Demand 

Household consumption depends upon disposable income of the household.

C=f(y)

The relationship is explained with the help of Consumption Function. Keynes proposed that there is empirical relationship between consumption and income. The Consumption demand increases with the increase in income but not as fast as income.

Marginal Propensity to Consume(MPC) 
The slope of the consumption Function measures the marginal propensity to consume or MPC. The MPC is the extra amount that people consume when they receive extra income.

MPC=(C/(Y i.e. the ratio of change in consumption to change in income. The other related concept is of average propensity to consume i.e. C/Y, the ratio of total consumption to total income.

The Marginal Propensity to Save 

Along with the MPC goes its mirror image, the marginal propensity to save or MPS. It is defined as the change in savings to change in income. 
MPS=(S/(Y i.e. Ratio of change in saving to change in income. As the income which is not consumed is saved.  Y=C+S. This implies that each extra income must be divided between extra consumption and extra saving. It confirms that at any level of income, MPC and MPS always add up to exactly I, MPS ( 1-MPC 

Table 1: Consumption – Saving Relationship
	Y
	Change in Y

(Y
	C
	Change in C

(C
	MPC

(C/(Y
	Savings

S
	Change in S

(S
	MPS

(S/(Y
	C+S
	MPC

+

MPS

	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	0
	-
	100
	-
	0.8
	-100
	-
	-
	0
	1

	100
	100
	180
	80
	0.8
	-80
	20
	0.2
	100
	1

	200
	100
	260
	80
	0.8
	-60
	20
	0.2
	200
	1

	300
	100
	340
	80
	0.8
	-40
	20
	0.2
	300
	1

	400
	100
	420
	80
	0.8
	-20
	20
	0.2
	400
	1

	500
	100
	500
	80
	0.8
	0
	20
	0.2
	500
	1Break Even Point

	600
	100
	580
	80
	0.8
	20
	20
	0.2
	600
	1

	700
	100
	660
	80
	0.8
	40
	20
	0.2
	700
	1


Table 1 shows the levels of consumption and savings for various levels of income. At income level 0 consumption is 100. It is called autonomous consumption. It means people must consume this much to survive. They either use past savings or borrow called dis-saving. At income level Rs. 500, Consumption equals income, savings at this level is zero. This is called BREAK EVEN POINT. Below this income level there is –ve savings called dissavings. Above this level is +ve  savings or savings. 

 SHAPE  \* MERGEFORMAT 




In Fig I Part A shows the Consumption Function and Part B shows the saving function. In Part A, the amount of savings at any level of income is the vertical distance between consumption function and 45( line. At income level Oy0 (at point B income equals consumption). It is called Break Even Point. The saving function is directly derived from Part A. Income level Oy0 where C=Y signifies zero savings shown in Saving function. To the left of Oy0 income level shows consumption > than income. It shows –Ve savings in Part A and Part B. To the right of Oy0 level of income consumption is less than income. So the part of the income is saved which is shown at Oy1 income level in part A and Part B .

2.INVESTMENT-
The second major component of private spending is investment which means addition to the stock of capital goods. Question arises why do businesses invest? Ultimately, businesses buy capital goods when they expect that this action will earn them profit-that is will bring them revenue greater than cost of investment. This simple statement contains three factors effecting investment demand of businesses. These are revenue, cost and expectations.


Revenue: Investment depends upon the revenues that will be generated by the state of overall economic activity. Additional revenue will be generated if the firm is able to sell more.

Costs: Second important determinant of the level of investment demand is the cost of investing. The type of cost that is associated with the funding  of the investment is the rate of interest. It is the price paid for borrowing money for investment.

Expectation:- The third element in the determination of investment is profit expectations. Businesses invest to earn profit because capital goods last many years, investment decision depend upon (1) the demand for output produced  (2) the interest rate (3) business expectations. 

The Investment Demand Curve:
As investment demand of businesses depend upon marginal efficiency of capital and cost investment (rate of interest ) we must introduce these two concepts


(1)    Marginal Efficiency of Capital: is the expected profitability or it may be defined as expected rate of return of an additional unit of capital over its life time.

The Marginal Efficiency of capital curve is downward sloping. It shows that as more and more units of this capital are employed the efficiency of the additional unit employed goes on falling.


If MEC schedules for all firms are added horizontally, we will get the MEC schedule for the whole economy named as Marginal Efficiency of  Investment  or MEI. The MEI derived from horizontal summation of MEC of all the individual firms will also be downward sloping curve. This shows that marginal efficiency of investment falls as investment increases.

INVESTMENT DEMAND


The quantum of investment depends on the rate of interest (cost of investing) and marginal efficiency of investment (i.e. profit expectations). 
Investment will be at a level where MEI equal rate of interest as is shown in Fig.3


The diagram shows that the business demand for investment where the cost (i.e. rate of interest) equals marginal efficiency of investment (i.e. expected profitability). As MEI curve is downward sloping. This shows the inverse relationship between rate of interest and investment demand. It explains that at higher rate of interest investment demand is less and if rate of interest falls the investment demand increases.
3.Government Expenditure : Government demand for goods and services is the third component of aggregate demand. The level of government expenditure is determined by government policies. Varying government expenditure is an important tool for demand management.

4. Net Exports: The fourth component of aggregate demand is net exports. It is the difference between exports and imports. It shows the effect of foreign spending on foreign goods and services (imports).
Planned/ Desired/Ex-ante Saving:

Ex-post/actual saving and investment as realised (real) saving and investment. Ex-post saving and investment are always equal. In fact Ex-post saving and investment form an accounting identity and are therefore bound to be equal to each other at all levels of income and employment.This is because :


C+S=Y=C+I


Y=C+I


Y=C+S


Therefore S=I
[image: image37.png]Ex-ante Consumption

Different people plan to save different
fractions of their additionalincomes and if we
average these we may arise at a fraction
which will give us an idea of what proportion
of the total additionalincome of the economy
people wish to save as a whole. We call this
fraction the marginal propensity to save(mps).
If we subtract the mps from 1 we get the
marginal propensity to consume(mpc). If
income is zero we must have the minimum or
subsistence level of consumption to survive.
Equationbecomes: C=C+c.Y




· Ex-Ante Demand for Final Goods : In an economy the ex-ante aggregate demand for final goods is the sum total of the ex-ante consumption expenditure and ex-ante expenditure on such goods.

AD=C + I can be written as,

AD = C + I + c.Y 

If the final goods market is in equilibrium this can be written as :


Y = C + I + c.Y, where Y is the ex ante or planned supply of final goods. This equation can be further simplified by adding two autonomous terms C + I  = A.
The term Y on the left hand side represents the ex-ante output or planned supply of final goods. On the other hand the expression on the right hand side denotes ex-ante or planned aggregate demand for final goods.

Movement along a curve versus shift of the curve
· We shall be using graphical technique to analyse the model of the economy.

  b= ma + e   
m>0 is the slope of the line




 e>0 is the intercept on vertical  line

When a increases by 1 unit b increases by m units, these are called movement of the variables along the graph.

[image: image38.png]b=a+2

b=0.5a+2

Figure 1
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When m increases straight lines swings upwards called parametric
shift of the graph
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The Short run Fixed Price Analysis of the Product Market
Derivation of aggregate demand under fixed price of final goods and constant rate of interest in the economy.

We assume that the elasticity of supply is infinite-i.e., supply schedule is horizontal- at the fixed price. Under such circumstances, equilibrium output be solely determined by the aggregate amount of demand at this price in the economy. We call it effective demand principle.

We assume that prices in the economy take some time to respond to the forces of excess supply or demand. In the mean time, producers try to update their production plans in order to avoid excess supply or demand. For instance, if they face an excess supply in the current production cycle they will plan to produce less in the next cycle so as to avoid accumulation of stocks in their warehouses. 

Note also that an individual producer is very small compared to the size of the national market and, therefore, she cannot affect market price on her own. An individual producer has to accept the price that prevails in the market. The aggregate price level in the economy changes only when adjustments in all markets of the economy fail to eliminate the excess demand or supply. Prices are, therefore, assumed to vary only in the long run.
A Point on the Aggregate Demand Curve
At a fixed price, the value of ex ante aggregate demand for final goods, AD, is equal to the sum total of ex ante consumption expenditure and ex ante investment expenditure. Under the effective demand principle, the equilibrium output is equal to ex ante aggregate demand. Y = A + cY 

Suppose the values of autonomous expenditure are C = 40, I = 10 and the value of mpc = 0.8, Y = 200. 

What will be the equilibrium value of Y.

C=C+0.8Y  = 40 + (0.8) 200 = 200

AD = C + I =  200 +10  = 210. 

When Y=200 the AD= 210, is not the equilibrium level of output in the economy
Effect of an Autonomous change on Equilibrium Demand in the Product Market
The Equilibrium output and aggregate demand at the fixed price-interest rate is derived by solving the equation 


Y = AD = A + cY 

A is the intercept parameter , C is the slope parameter of the equation. When C increases the straight line representing the equation of AD will swing upward. On the other hand as A increases the straight line will shift in parallel upwards

The Determination of Income, Employment and output :-

According to Keynes, the level of income and output will be established at a level where AD equals AS as is shown in the following diagram

Figure I ( Determination of income level with the help of AD & AS

  [image: image40.png]2=
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Figure I measures Income & output on x axis and aggregate demand on y axis. 450 line shows the equality between AD & AS at each of its points. Equilibrium is established at a point E where AD = AS. Corresponding to this equilibrium level the output level is OM. It is not necessarily the full employment level. The full employment level may be before this level or beyond this equilibrium level.

       If full employment level is after equilibrium level OM say at OQs. .At this level AD < AS. It leads to increase in the stock of entrepreneurs .They reduce the level of output and equilibrium is established again at OM.

       If full employment is before equilibrium level OM. AD at this level is greater than AS. It will lead to decrease in inventory stock. Producers will increase the output to maintain their wanted stock and equilibrium will be established again at OM.

Equilibrium level of determination of income with the help of saving function and Investment :-
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According to Macro theory of Income employment equilibrium is established at a point E where planned savings equal planned investment. Equilibrium level of income is OM. Assuming economy is at a level OM. At this level of income planned saving is greater than planned investment There will be unplanned increase in the stock of producers. They will reduce the level of output and the economy will be at the equilibrium level E.M.

          Suppose the economy is producing at a level OQ2 which is less than equilibrium level. At this level savings is less than planned investment. There will be reduction in the planned stock of producers. To maintain their stock at the desired level they will increase the output level. Equilibrium again will be established at OM.

The Concept of Excess Demand :-

According to Keynesian analysis if AD > As at full employment level the situation of excess demand arises. The gap between the two is called Inflationary gap. This situation is explained with the help of following diagram.         



Excess Demand
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                               45o
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The economy is at equilibrium at point E where AD = AS. But full employment level is 0Q where AD is greater than AS by an amount. This is the situation of excess demand and the gap is called Inflationary gap.

Impact on the Economy:-

As aggregate demand is greater than aggregate supply. Producers want to produce more output. But output cannot increase as there is non-availability of resources.

Income:- Real income cannot increases because real output can’t  increase only money income will increase.

Price :- Price will increase. It will lead to an increase in monetary income.

The concept of Deficient demand :-

According to Keynesion analysis when AD is less than AS at full employment level it is the situation of Deficient demand and the gap between AD and As at this level is deflationary gap as is shown in the following figure:

  Deficient Demand
                                                            F

( Consumption +                            E            Deflanationary Gap                    

   Investment)                                                         C + I (AD)

                                                                 G

                                          450
                                  O                  M     Q 

                                                   (Income/ Output)

The economy is at equilibrium at point E where AD = AS. But full employment level is 0Q. Where AD is less than AS by an amount FG creating the situation of excess demand and the gap between AD and AS equal to PG is deflationary gap.

Impacts on the Economy:-

As AD is less than AS, Producers wish to produce less. The level of output and income will reduce. 

Impacts on output :- Output will reduce.

Employment :- Level of employment will decrease.

Price :- Will fall

Remedy for deficient demand :- 

Following remedial measures will be adopted to control the situation of deficient demand or to increase the level of A.D.

1. Fiscal Measures :- Govt. will adopt following budgetary measures to control this situation.

a) Increasing the level of Govt. expenditure :- If the government expenditure is increased, AD will increase to restore the full employment level.

b) Decreasing taxes :- If taxes are reduced, disposable income will increase and consumption level will increase. This will lead to an increase in aggregate demand.

2.  Monetary measures :- 

I) Reserve Ratio :- Reserve ratio will be reduced. It will increase the credit creation capacity of the commercial banks.

II) Lowering rate of interest:- When rate of interest is lowered, firms will increase investment as there is inverse relation between rate of interest and investment demand. The increase in Investment will increase the aggregate demand until the economy is restored at full employment level.

Remedy for Excess Demand:-

When AD > AS at full employment level the situation of excess demand the following measures are adopted to control this situation.

I. Fiscal Measures :- Following fiscal measures are adopted by the

     government to curb the excess demand in the economy.

i)  Reduction in govt. expenditure:- Government should reduce expenditure to control the situation of excess demand.

ii) Increase in taxes :- When Govt. will increase taxes, the disposable 

      income will decrease, leading to decrease in the level of 

      consumption, thereby reducing A.D.

Monetary Measures:- Following measures are adopted by the monetary authority of the country to control it.

     i) Increase in Reserve Ratio:- Central Bank will increase the Reserve

Ratio. It will reduce the credit creation capability of the commercial Banks & the situation of excess demand will be controlled.

    ii) Increase in Rate of Interest :- Monetary authority will increase the

        rate of interest will lead to less investment by the firm as borrowing 

        is now costlier for them and the situation of excess demand will be 

        controlled.

           In fact both these measures are adopted simultaneous to control 

           excess or deficient demand.

The Multiplier:- The multiplier model shows that an increase in investment will increase income by multiple amount. It is a number by which the change in investment must be multiplied in order to determine the resulting change in total output.

    The size of multiplier depends upon the size of MPC. Higher is the MPC, higher will be the value of multiplier.

   K = 1/ 1- MPC

It is reverse to the value of MPS i.e. K =  1__ 
                                                            MPS
By using the following formula we can find the resultant change in income by given change in investment. And MPC.

                           (y = K ( (I

                           (y = 1/1-MPC x  (I

                           (y = 1/MPS x (I

Working of Multiplier :-

By using the working of multiplier we can find the total change in spending by an initial autonomous investment of Rs. 1000/- and given MPC equal to 2/3

(I = Rs. 1000/-                                              MPC 2/3 Rounds

Total Spending

Rs. 1000/-                                    (I  Rs. =1000/-            (1)

       +

Rs. 666.67                                    2/3 x 1000/-                 (2)

       + 

Rs. 447.44                                    (2/3)2 x 1000/-             (3)

       +

Rs. 296.30                                    (2/3)3 x 1000/-            (4)

       + 

Rs. 197.53                                    (2/3)4 x 1000/-            (5)

       +                                                     +

        .                                                      .                           . 

        .                                                      .                           .

        .                                                      .                           .  

        .                                                      .                           .

__________                               ___________

Rs. 3000/-                                      1      x  100

                                                     1-2/3
QUESTIONS FOR DISCUSSION 

1. What is the difference between ex ante investment and ex post investment?

2. What do you understand by parametric shift of a line? How does a line shift when its    

    (i) slope decreases, and (ii) its intercept increases?

3. Measure the level of ex-ante aggregate demand when autonomous investment and consumption expenditure (A) is Rs 50 crores, and MPS is 0.2 and level of income (Y) is Rs 4000 crores. State whether the economy is in equilibrium or not (cite reasons). 

4. Explain ‘Paradox of Thrift’. 

5. Distinguish between APC and MPC. The value of which of them can be more them one and when?

6. What is consumption function? Explain using suitable diagram.

7. What is bread Even point? Explain with the help of saving - investment function. 

8.  Explain diagrammatically Investment demand as a component of AD. 

9.  Explain the concepts of (a)  inflationary gap  (b) deflationary gap with the help of diagram. 

10. Distinguish between planned and actual saving and investment. 

11. IN the Keynesian framework, C+I function is shown as upward parallel to consumption function. State the principle reason. Explain with diagram. 

12. * Differentiate between full employment equilibrium and under employment equilibrium with the help of diagram. 

13.* With the help of a table and diagram explain the working of multiplier when 
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I = Rs 100 and MPC = 2/3. 

14. Diagrammatically explain the theory of determination of the level of income of employment with the help of AD and AS. Is it always full employment level. 

15. Explain the concepts of under employment equilibrium with the help of diagram. Show on the same diagram the additional investment required to achieve full employment equilibrium. 

16. Diagrammatically explain the equilibrium level of income with the help of saving and investment curve. If savings exceed investment wheat changes will bring equality between them? Determine the level of equilibrium with the help of saving and investment. 

17 ** What would be the effect of each of the following on aggregate demand or on aggregate supply, as indicated (always holding other things constant).? 


(a) A large oil- price increases (on  AS) (b) An arms reduction agreement reducing defense spending (on AD) (c) An increase in potential output (on As)  (d) A monetary loosening that lowers interest rates (on AD)

18** For each of the events listed above in question no. 17 use the AD-AS apparatus to show the effect on output and on the overall price level. 

19** Government implemented a fiscal policy that reduced taxes and increased government expenditure. 

Explain why this policy would tend to increase AD, Show the impact on output and prices assuming only an AD shift. 

20** I consume all my income at every level of income. Draw my consumption and saving function. What are my MPC and MPS. 

21** Along the consumption function income changes more than consumption” what does this imply for MPC and MPS?

22** Explain in words and using notion of expenditure rounds why the tax multiplier is smaller than the expenditure multiplier. 

23** “Even if government spends billions on wasteful military armaments, this action can create jobs in recession.” Discuss. 

24** “Will higher saving necessarily benefit the economy? In a striking argument called the paradox of thrift , Keynes pointed out that when people attempt to save more , this will not necessarily result in more saving for the notion as a whole”  Discuss. 

CBSE EXAMINATION QUESTIONS (2004 ONWARDS)

1. Distinguish between Average Propensity to Consume and marginal Propensity to consume. The value of which of these two can be greater than one and when?

2. Give meaning of marginal propensity to save. Can the value of average propensity to save be negative? If yes, when

3. Distinguish between average propensity to consume and marginal propensity to consume with the help of numerical examples. 

4. Define aggregate demand. State its components. 

5. Complete the following table. 

	Income (Rs.)
	Consumption Expenditure to consume
	Marginal Propensity to save
	Marginal Propensity

	1000
	900
	-
	-

	1200
	1060
	-
	-

	1400
	1210
	-
	-

	1600
	1350
	-
	-


CBSE EXAMINATION QUESTIONS (2004 ONWARDS) 

1. What is inflationary gap? State two measures to correct it? 

2. Explain the effect of an increase in Bank Rate on credit creation by commercial banks. 

3. Distinguish between inflationary gap and deflationary gap. Show deflationary gap on a diagram. Can this gap exist at equilibrium level of income? Explain. 

4. Explain the concept of under-employment equilibrium with the help of a diagram. Show on the same diagram the additional investment expenditure required to reach full employment equilibrium. 

OR

Explain the equilibrium level of income with the help of Consumption + Investment (C+I) Curve. If planned savings is greater than planned investment, what adjustments will bring about equality between the two?

5. Explain with the help of diagrams the situations of (a) under employment equilibrium and (b) excess demand in an economy. 

6. Explain and graphically represent the concept of deflationary gap. Explain any one measure of removing this gap. 

7. Explain and graphically represent the concept of inflationary gap. Explain any one measure of removing this gap. 

8. Explain the roles of (a) bank rate policy, and (b) changes in government expenditure in reducing excess demand in an economy. 

Explain the roles of (a) open market operations and (b) changes in government expenditure in solving the problem of deficient demand in an economy.
UNIT 9

GOVERNMENT BUDGET AND THE ECONOMY

DEFINITION: The budget is an annual statement of the estimated receipts and expenditures of the government over the fiscal year which runs from April 1 to March 31 of the succeeding year.

OBJECTIVES 

1 To secure reallocation of resources in line with social and economic considerations.

2 Redistributive activities: Government redistributes income and wealth to reduce inequalities.

3 Stabilizing activities: Government tries to maintain economic stability i.e high level of employment and price stability with the help of its budgetary activities.

4 Management of public enterprises: Government undertakes commercial activities e.g. production of railway,electricity etc.in the area of natural monopolies.

COMPONENTS OF BUDGET

It broadly has two components:



Components of Budget

 

Budget Receipts                     Budget Expenditures 

(1). Budget Receipts: 

       Definition: Budget Receipts refer to estimated receipts of the government from all sources during a financial year.
(1)REVENUE RECEIPTS 
(1)  Revenue Receipts:


These are receipts of the government that neither reduces assets of the government not create any corresponding liability of the government.

Types of revenue receipts:

(a) Tax Receipts: is the compulsory legal payment by the households, firms or other institutions to the government.

e.g. income tax, gift tax , sales tax, excise duty etc.
TYPES OF TAX RECEIPTS
(i) Direct Tax: It is a tax in which the burden of the tax falls on a person on whom it is imposed e.g. income tax, corporation tax, wealth tax, gift tax, etc.

(ii)  Indirect Tax : It is a tax  which is imposed on other person and the burden of the tax falls ( shifted) on other person. e.g. sales tax, excise duty, custom duty, entertainment tax etc.
(b) NON TAX RECEIPTS 

Non Tax Receipts: All non tax revenue receipts of the government fall under this category e.g.

       (i) Fees : College fees , land registration fees, birth and death registration fees, etc.

       (ii)  License Fee: When government authority provides permission to do some service e.g. registration fee for an automobile.

(i)  Escheat: refers to the income of the government from the property which has no legal  heir. Other examples are: fines and penalties, gifts and grants etc.
(ii) CAPITAL RECEPITS 
Capital Receipts: Capital Receipts are those estimated receipts of the government that either create liability of the government or reduces government assets. e.g, 

        (i)  Recovery of loans

       (ii) Borrowing 

       (iii) Disinvestments etc.

 

BUDGET EXPENDITURE
It is the estimated expenditure of the government on various heads during a fiscal year e.g. education, health , Defense, etc.


Types of Budget Expenditure

(1)Revenue Expenditure and Capital Expenditure: 


Revenue Expenditure refers to the estimated expenditure of the governments that neither create assets of the government nor reduces the liability of the government. This expenditure is incurred for the normal running of the government department and providing services e.g. interests payments, subsidies, etc.

Capital Expenditure: This expenditure either creates assets of the government or reduces liabilities e.g. acquiring land, building, machine, investment in shares, advancing loans etc 

BUDGET DEFICIT 
Meaning: When the total estimated expenditure of the government is greater than total estimated receipts of the government It is called Budget Deficit.

TE > TR = Deficit Budget

 Surplus Budget: It is the one in which total estimated expenditure is less than total receipts 


TE < TR = Surplus Budget

 Balanced Budget:



TE = TR = Balanced Budget

 
OTHER TYPES OF DEFICIT 
(1) Fiscal deficit: Fiscal deficit is the difference between the total expenditure of the government and total receipts of the government except borrowing. i.e.


Fiscal deficit = TE –TR (other than borrowing)

Significance: It shows the borrowing requirement of the government. Greater fiscal requirement implies greater borrowing by the government. This creates a large burden of interest payments in the future that leads to increase in revenue expenditure, causing an increase in revenue deficit. Thus a vicious circle sets in. In the present, a large fiscal deficit may also lead to inflationary pressures.

(2) Revenue Deficit : is the excess of revenue expenditure over revenue receipts 


RD=RE–RR when RE>RR
Significance:  Since it is largely related with the recurring expenditure of the government. Therefore, high revenue deficit gives a warning to the government either to cut expenditure or to increase revenue receipts. It also implies a repayment burden in the future.

(3)   Primary Deficit: The Primary Deficit is the Fiscal Deficit minus interest payments. It therefore indicates, how much govt. borrowing is going to meet expenses other than interest payments. A low or zero primary deficits means that while its interest commitments on earlier loans have compelled the government to borrow, it is aware of the need to tighten its belt.
QUESTION FOR DISCUSSION 

1. Distinguish between revenue expenditure and capital expenditure. 

2. The fiscal deficit gives the borrowing requirement of the government. Elucidate. 

3. Give the relationship between the revenue deficit and the fiscal deficit. 

4. Suppose that for a particular economy, investment is equal to 200, government purchases are 150. Net taxes (that is lump-sum taxes minus transfers) is 100 and consumption is given by C= 100+ 0.75Y 9a) What is the level of equilibrium income? (b) Calculate the value of the government expenditure multiplier and the tax multiplier. (c) if government expenditure increases by 200, find the change in equilibrium income. 

5. Explain why the tax multiplier is smaller in absolute value than the government expenditure multiplier. 

6. Does public debt impose a burden? Explain. 

7. Are fiscal deficits necessarily inflationary? 

8. Discuss the issue of deficit reduction. 

CBSE EXAMINATION QUESTIONS ( 2004 ONWARDS)

1. A government budget shows a primary deficit of Rs. 4,400 crores. The revenue expenditure on interest payment is Rs 400 crores. How much is the fiscal deficit?

2. Define fiscal deficit. 

3. What is meant by revenue deficit? 

4. In a government budget revenue deficit is Rs 50000 crores and borrowings are Rs 75000 crores. How much is the fiscal deficit? 

5. In a government budget revenue deficit is Rs 50000 crores and borrowing is Rs 75000 crores. How much is the fiscal deficit? 

6. Define a tax. 

7. What is a government budget? 

8. Why are borrowing treated as capital receipts? 

9. Why is recovery of loans is treated as capital receipts? 

10. Why is repayment of loan treated as capital expenditure? 

11. Why is payment of interest a revenue expenditure? 

12. Why are subsidies treated as revenue expenditure? 

13. Give two examples of non-tax revenue receipts. 

14. What is a government budget Name two sources each of non-tax revenue receipts and capital receipts. 

15. What is meant by revenue deficit? What are the implications of this deficit? 

16. What is the basis of classifying government receipts into revenue receipts and capital receipts. Give an example of each. 

17. State any three objectives of a government budget. 

18. Define a tax. Give two examples each of direct taxes and indirect taxes. 

19. Define a government budget. State any four of its main objectives. 

20. What is the basis of classifying government expenditure into 

    (i) Revenue expenditure and capital expenditure. 

    (ii) Plan expenditure and non-pan expenditure. 

21. Explain briefly any two objectives of a government budget. 

22. Distinguish between revenue receipts and capital receipts in a government budget. Give two examples of each. 

23. Give meaning any implications of revenue deficit in a government budget.

24. Giving reasons, categories the following into revenue receipts and capital receipts: 


(i) Recovery of loans


(ii) Corporation tax


(iii) Dividends on investments made by government. 


(iv) Sale of a public sector undertaking. 

25. Giving reasons, categories the following into revenue expenditure and capital expenditure. 


(i) Subsidies 


(ii) Grants given to State Governments. 


(iii) Repayment of loans


(iv) Construction of school building. 

26. Giving reasons, categorize the following into direct tax and indirect tax:


(i) Corporation tax


(ii) Sales tax


(iii) Wealth tax


(iv) Service tax 

27. Explain the concept of revenue deficit to a government budget. What does this deficit indicate? 

28. What does fiscal deficit in a government budget mean? What are its implications?
UNIT 10

FOREIGN EXCHANGE RATE 

Meaning And Determination. 

Meaning:- Foreign exchange rate is the price of one currency is terms of another. 

Foreign Exchange Market : The foreign exchange market is the market where the national currencies are traded for one another. 

Function of Foreign Exchange market: - 

1. Transfer function 

2. Credit function

3. Hedging function. 

1) Transfer Function :  it transfers the purchasing power between countries. 

2) Credit Function :  It provides credit channels for foreign trade. 

3) Hedging Function: It protects against foreign exchange risks. 

DEMAND AND SUPPLY FOR FOREIGN EXCHANGE 

DEMAND FOR FOREIGN EXCHANGE 

It is the demand for foreign currencies by the residents of a country. Transactions in the foreign exchange market are reflected in the balance of payments account. 

1) DEMAND SIDE : People desire to have foreign exchange for the following reasons:- 

(i) To purchase goods and services from other countries. 

(ii) To send gifts abroad. 

(iii) To purchase financial assets. 

(iv) To speculate on the value of foreign currencies. 

2) SUPPLY SIDE ; - Foreign currencies , flow into the domestic economy due to the following reasons . 

(i) Foreigners purchasing have country’s goods and services through exports. 

(ii) Foreign investment in home country. 

(iii) Foreign currencies flow into the economy due to currency dealers and speculators. 

EQUILIBRIUM IN THE FORIGN EXCHANGE MARKET

Foreign exchange market like any other normal market contains a downward sloping demand curve and an upward sloping supply curve . The price is shown on the vertical axis and the horizontal axis measures the quantity demanded or supplied . The intersection of the supply and demand curve determines the equilibrium exchange rate ( Reg) and the equilibrium quantity (Qeg) of foreign currency i.e. US ($)
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TYPES OF EXCHANCE RATE 
Fixed Exchange Rate Systems :  Under this system exchange rate is officially declared and it is fixed only a very small deviation from this fixed value is possible. 

A typical fixed exchange rate system was associated with the Gold Standard Systems of 1880-1914. under this systems value of currency was fixed in terms of Gold. 

For :- Re
=
125 gm Gold


$
=
25 gm gold 

50, 
Re
=
5$

FLEXIBLE EXCHANGE RATE SYSTEM: 


Flexible exchange rates point to an extreme situation where there is no intervention by Central Banks. The foreign exchange market is busy at all times by changes in the exchange rates. 

ADVANTAGE OF FLEXIBLE EXCHANGE RATE SYSTEM 

(i) Flexible exchange rates eliminate the need fore central banks to hold international reserves. 

(ii) Helpful to do away with barrier to trade. 

(iii) Enhances the efficiency in the economy. 

Number of alternative system has been suggested as ‘hybrid’ systems combining advantages of fixed and flexible exchange rates. 

MANAGED FLOATING: 

The final hybrid in management of fixed and flexible exchange rates is the managed floating. The intervention is discretionary on the part of monetary authorities. 
OPERATION OF FOREIGN EXCHANGE MARKET 

Operation of Foreign exchange market are of two types : 1) Current market for the spot market . 

2)  Forward market. 

1)  SPOT MARKET FOR FOREIGN EXCHANGE:- 

Spot rate of foreign exchange is useful for current transactions. It is also important to find the strength of the domestic currency. The measure of average relative strength of a given currency is called the effective exchange Rate (EER). 


As we do not climate the effect of price changes, this may also be called as Nominal effective Exchange Rate (NEER). 


And when we eliminate the effect of price changes, this is  real exchange rate (RER) Real effective exchange Rates ( REER) is based on real exchange rates. 


Another of the spot rate is Purchasing Power Parity (PPP). There are two versions of it:- 

1) Absolute purchasing power parity. 

2) Relative purchasing power parity. 

1) Absolute Purchasing power parity:  It considered the same price of commodity in the whole world. 

2) Relative purchasing power parity:-  It considered the rates of inflation in the two countries. 

3) Forward Market for foreign exchange:-  The forward market for foreign exchange covers transactions which occur at a future date. Most of the international transaction does not occur on same day. Usually they materiablise much later. 

A forward contract is entered into for two reasons: 1) To minimize risk of loss. 

      2) To make a profit 

Any problem with the exchange rate could create enormous difficulties not only for the country concerned but to others as well. 

BALANCE OF PAYMENTS : MEANING AND COMPONENTS 

Meaning:  The balance of payments of a country is a systematic record of all economic transactions between the residents of the reporting country and the residents of foreign countries during a given period of time. 

RELATION BETWEEN NATIONAL INCOME AND BALANCE OF PAYMENTS (Not to be Examined)
Balance of payments involves international payments and receipts. Hence, balance of payments affect the national income. 


The income is shown in the following experience. 

Y= C+I+G+X

Following expression gives the way income is deposed off. 

Y= C+S+T+M

Income accounting According to the national income generated must be equal to income disposed off: 

C+I+G+H=C+S+T+M

Simplifying this we obtain

I+X+G=S+T+M

Here, I G and x are injections into the income stream and S, Tand M are leakages there from. So, in equilibrium planned injections must be equal to total planned injections must be equal to total planned leakages. 

BALANCE OF TRADE AND BALANCE OF PAYMENTS

Balance of trade takes into accounts only those transactions arising out of the exports and imports of goods (the visible items). It does not consider the exchange of services rendered such as shipping, insurance. Balance of Payments takes into account the exchange of both visible and invisible items. Hence, the balance of payments represents a better picture of a country’s economic transactions with the rest of the world than the Balance of Trade. 

STRUCTURE OF BALANCE OF PAYMENT ACCOUNTING

A balance of payments statement is a summary of a nation’s total economic transactions undertaken on international account. It is unusually imposed of two sections: 

i) Current Account

ii) Capital Account

1) CURRENT ACCOUNT :  It records the following 3 items 

i) Visible items of trade:  The  balance of exports and imports of goods in called the balance of visible trade. e.i. tea  coffee etc. 

ii) Invisible trade: The balance of exports and imports of services is called the balance of invisible imports of services is called the balance of invisible trade e.g. shipping insurance etc. 

iii) Unilateral transfers: Unilateral transfers are receipts which residents of a country receive, or payments that the residents of a country make without getting anything in return eg:- gifts etc. 

The net value of balances of visible trade and of invisible trade and of unilateral transfers is the balance on current Account. 

2. CAPITAL ACCOUNT: It records all international transactions that involve a resident of the domestic country changing his assets with a foreign resident or his liabilities to a foreign resident. 

VARIOUS FORMS OF CAPITAL ACCOUNT TRANSACTIONS: 

i) Private transactions: These are transactions that are affecting assets or liabilities by individuals. 

ii) Official transactions: Transactions affecting assets and liabilities by the government and its agencies. 

iii) Direct Investment: It is the act of purchasing on asset and at the same time acquiring control of it. 

iv) Portfolio Investment:  It is the acquisition of an asset that does not give the purchaser control over the asset. 


The net value of the balances of direct and portfolio investment is called the balance on capital account. 

Other Items in the balance of Payments

They are included since the full balance of payments account must balance. These items are as follows; 

i) Errors and Omissions: They may arise due to the presence of sampling and due to dishonesty. 

ii) Official reserve transactions:  All transactions except those in this category may be termed as autonomous transactions. They are so called because they were entered into with some independent motive. 
BALANCE OF PAYMENTS ALWAYS BALANCES 

A simply hypothetical balance of payments statement can be given as below: 

BALANCE OF PAYMENTS STATEMENT 

	Credit
	
	Debit ( payments )
	

	Items
	Rs (Crore)
	Items 
	Rs (Crores)

	Current Accounts 

	Visible 

Merchandise 

trade (exports) 

Invisibles 

Services exported 

Investment income 

Unilateral receipts 
	200

100

150

200
	Visible 

Merchandise trade Goods) (Imports )

Invisibles

Services imported 

Foreign income from investment at home 

Unilateral payments 
	300

200

100

150

	Sub total 
	650
	Sub total
	750

	Capital Account
	
	
	

	Long – term loans 

short term Loans

Sale of gold/assets
	200

100

100
	Long term loans

Short term loans

Purchase gold/assets
	175

75

50

	Sub Total 

Grand total (a+b)
	400

1050
	Sub Total 

Grand total (a+b)
	300

1050


Autonomous and Accommodating Items 

Autonomous Items:  Autonomous items in the BOP refer to international economic transactions that take place due to some economic motive such as profit maximization. These items are often called above the sine items in the BOP. 

The balance of payments is in deficit if the autonomous receipts are less than autonomous payments. The monetary authorities may finance a deficit by depleting their reserves of foreign currencies, or by borrowing from the IMF. 

ACCOMODATING ITEMS: Accommodating items in the BOP refer to transactions that occur because of other activity in the BOP, such as government financing. Accommodating items are also referred to as below the line items. 

DISEQUILIBRIUM IN BALANCE OF PAYMENTS 

There are a number of factors that cause disequilibrium in the balance of payments showing either a surplus or deficit. 


These causes are categorized into 3 factors: 

i) Economic Factors:  i) Large – scale development expenditure that may cause large imports. 

ii) Cyclical fluctuations in general business activities such as recession or depression. 

iii) High domestic prices may result in imports. 

ii) Political Factors: Political instability may cause large capital outflows and damper the inflows of foreign capital. 

iii) Social Factors:  Changes in tastes , preferences and fashions may affect imports and exports. 

QUESTION FOR DISCUSSIONS 

1. Differentiate between balance of trade and current account balance. 

2. What are official reserve transactions? Explain their importance in the balance of payments. 

3. Explain the automatic mechanism by which BoP equilibrium was achieved under the gold standard. 

4. How is the exchange rate determined under a flexible exchange rate regime? 

5. Differentiate between devaluation and depreciation. 

6. Are the concepts of demand for domestic goods and domestic demand for goods the same? 

7. Why is the open economy autonomous expenditure multiplier smaller than the closed economy one? 

8. Suppose C= 40 + 0.8 YD, Y = 50, I = + 60, G= 40, X=90, M=50+0.05Y (a) Find equilibrium income. (b) Find the net export balance at equilibrium income (c) What happens to equilibrium income and the net export balance when the government purchases increase from 40 and 50?

9. In the above example, if exports change to X= 100, find the change in equilibrium income and the net export balance.

10.  If inflation is higher in country A than in Country B, and the exchange rate between the two countries is fixed, what is likely to happen to the trade balance between the two countries? 

11. Should a current account deficit be a cause for alarm/ explain. 
CBSE EXAMINATION (FOREIGN EXCHANGE RATE)

1. What is meant by foreign exchange rate? 

2. What is meant by appreciation of currency? 

3. State four sources each of demand and supply of foreign exchange. 

4. How is foreign exchange rate determined? Explain with the help of a diagram. 

5. What is meant by foreign exchange rate? Why a rise in exchange rate does causes a rise in its supply? 

6. What is meant by foreign exchange rate? List three sources each of demand and supply of foreign exchange in a country? 

7. Define foreign exchange rate. Why does the demand for foreign exchange rise when its price falls?

8. Why is supply curve of foreign exchange positively sloped?

CBSE QUESTIONS (2004 onwards) BALANCE OF PAYMENT  

1. The balance of trade shows a deficit of Rs 5000 crores and the values of imports are Rs 9000 crores. What is value of exports? 

2. The balance of trade shows a deficit of Rs 3000 crores. 

The values of exports are Rs 500 crores. What is the value of imports? 

3. When will there be a surplus in balance of trade? 

4. Which two transactions determine balance of trade?

5. When will a balance of trade show a deficit? 

6. What is the balance of visible items in the balance of payments account called?

7. What does balance of payment account record?

8. What is meant by balance of payments account?

9. What is the difference between the value of exports of goods and the value of imports of goods called? 

10.  What does a deficit in the balance of trade indicate?

11. State any four items each of current account and capital account of the balance of payments account. 

12. Distinguish between current account and capital account of balance of payments account. Mention any two transactions of capital account. 

13. What is balance of payments account? Name three components each of its current account and capital account. 

14. What is meant by visible and invisible items in the balance of payments account? Give two examples of invisible items. 

15. State any four items each of current account and capital account of the balance of payments account. 

16. Distinguish between current account and capital account of balance of payments account. Mention any two transactions of capital account. 

17. What is balance of payments account? Name three components each of its current account and capital account. 

18. What is meant by visible and invisible items in the balance of payments account? Give two examples of invisible items. 
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This relationship between income, consumption and saving is shown with the help of following 


The Consumption Function and Associated Saving Function
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Figure 2 Marginal efficiency Curve of a firm




It establishes the relationship between Investment and marginal efficiency of capital invested as shown in the figure.
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Figure 3. The Investment Demand
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